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Spring 2012
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Office Hours: M,W 12:30-1:45 in SPA-227

Home Phone: (562) 597-7287 -  I encourage you to call me at home 

with your questions.  Call from 2:00-5:30 Tuesday, Thursday, Friday, Saturday and Sunday.   I don’t have a message machine.

     
Office Phone: (562) 985-4711 (I rarely check this source and can’t return 

calls – so, it’s of little value)

Website: www.csulb.edu/~cdennis 


e-mail: chris.dennis@csulb.edu 
University Course Description


Introductory survey of American Political Institutions, politics and policy, including government and politics in California.  Constitutional foundations and current controversies.  Satisfies the general education requirement and the California teaching credential requirement.

Course Description


This is a course about American Government, California Government, and politics.  The course is designed to teach how government works, help you decide what kind of society you want, and to help you obtain more of the society you desire.  Among the course's more specific objectives are the following: to promote a better understanding of American Government and politics, encourage you to take a continuing interest in the subject of government, to help you function more effectively as a citizen, and to encourage you to think constructively and critically through analytical exploration of relevant materials.

Course Objectives and Outcomes


Upon completion of POSC 100, Students will know A.) and B.) be able to do the following:


A. Content Standards



1. The student will be able to articulate an understanding of the 



relationship between politics and society, including factors 



such as class, race, ethnicity, and gender.



2. The student will demonstrate knowledge of the ideological 




foundations of the Constitution.



3. The student will demonstrate an understanding of the comparative 


forms of government such as: federalism, republicanism, 



direct democracy, oligarchy, etc.



4. The student will develop an understanding of the complexities of 



political participation.  Who participates? What are the means 



of participation? How can students become active in politics?



5. The student will demonstrate an understanding of the evolution 



and development of American political institutions including: 



the Presidency, Congress, the judicial system, cabinet 




agencies, independent agencies, political parties, interest 



groups,  elections, news media organizations, social 




movements, etc.

 

6. The student will be able to identify and/or explain and critically 



assess hypotheses which purport to explain outcomes of U.S. 



and California governmental institutions. 

                

These may include: institutionalism, materialism, elite theory, 



pluralist theory, etc.



7. The student will demonstrate an understanding of the structure 



and functions of American political institutions at the national, 



state, and local levels.



8. The student will demonstrate an understanding of California’s 



place in the following contexts: the world, the U.S., and local 



communities.


B. Application Standards



1. The student will be able to place him/herself within the context of 



American political system, and identify how his/her own life 



chances are shaped by political institutions.



2. The student will engage in self-reflection on her/his own political 



orientation, its origins, and its consequences.



3. The student will demonstrate his/her ability to critically assess 



political writing, past and present political conditions, and the 



role of citizenship in America’s representative democracy.



4. The student will demonstrate skills in political research by 




formulating and testing hypotheses.

Assessment


Your grade is determined by four equally weighted components (maximum of 100 points each). There are three mid-term exams.  The mid-term exam on which you score lowest relative to the scale used for that exam is automatically dropped.  For example, if it takes a minimum of 92 points to earn an “A” on exam #1 and you score 91, you would have made a high “B” and have been one point below an “A.”  If on the second exam you scored 89 when 89 was the lowest possible “A” you would have made an “A” on exam #2.  Thus, your performance was better on exam #2 even though your raw score was higher on exam #1.  In this example, exam #1 would be dropped.  If you miss a mid-term exam for any reason, it is automatically the exam dropped.  If you miss two mid-term exams and wish to take a make-up exam, you will have to show a valid excuse within one week after the second missed exam was given.  The final exam is comprehensive and cannot be dropped.  Each of these test counts 25% of your grade.  Thus, 75% of your grade comes from examinations.  The remaining 25% of your grade is the cumulative total of your ten highest quiz scores.  There will be a total of 12 quizzes.  Your two lowest scores will automatically be dropped.  If you miss a quiz for any reason it is automatically dropped.  Any petition for a makeup quiz must come within one week of the date the quiz was given.  You will need a very substantial excuse in order to qualify for a makeup quiz (e.g., surgery, etc.).  Excuses such as oversleeping, traffic, etc. will not be accepted. The quizzes are unannounced and will cover the current reading assignment, class lectures since the previous quiz and current New York Times editorials by Paul Krugman.   Currently, Krugman’s editorials are on Monday and Friday.   They can be accessed at www.nytimes.com (click on “Opinion” on the left-side of the screen).  Only editorials from 2-10 days prior may appear on a quiz.  For example, a quiz on Friday would not contain a question from  a Krugman editorial appearing on that same day.  However, Friday editorial could be on a quiz the following Monday.    
 
Examinations will consist of both essay and objective questions.  The examination questions are drawn equally from class lectures and readings.  Many of the questions from the lectures cannot be answered from the readings.  Additionally, you cannot score highly on quizzes you do not take.   Therefore, class attendance is essential.


You grade is calculated by the cumulative total points on your best two mid-term exams, your cumulative total from the 10 quizzes you score highest on and your score on the final examination.   I do not average letter grades.  For example, if you make the lowest “A” on every component up to the final exam and make one point below an “A” on the final exam, you will make a “B” in the course.  Conversely, if you make three points above the minimum “A” on one exam and one point below an “A” on each of the other three components, you will make an “A” in the course.  In the first example, three “A” grades and one “B” grade resulted in a final grade of “B.”  However, in the second example, three “B” grades and one “A” grade resulted in a final grade of “A.”  Thus, it is the strength within the letter grade you make and not the letter grade alone that determines your final grade.   Put another way, all “A” grades are not equal.  The system I just outlined rewards you more for making a “high A” rather than a “low A.” In my opinion this system is much “fairer” than a system where you average the letters and omit using the individual point totals those letters represent.   
Policy on Reasonable Accommodations for Students with Disabilities


If you have a disability that requires some modification in testing procedures, please see me.  I will be glad to assist you.  You should also seek the assistance of Disabled Student Services.

Textbooks

The texts for the course are Coursepack for POSC 100, The American Democracy: 9th or 10th alternate edition, by Thomas Patterson (hereafter “Patterson’) and Governing California, 2nd edition by Lawrence L. Giventer (hereafter “Giventer”).  Both books are published by McGraw-Hill publisher.  NOTE: as there is more than one book by the title of Governing California, make sure you have the correct author and publisher).  Additionally, you will need to read the New York Times editorials by Paul Krugman (Monday and Friday) at www.nytimes.com (click on “Opinion” on the left-side of the screen) over the course of the semester. 

Schedule of Topics and Readings
I.  Constitutional Foundations and Public Opinion
A. The U.S. Constitution - We will examine the theoretical underpinnings of 
the Constitution.  Among the questions we will explore: What was 

the intent of the framers of the Constitution?  What is democratic 

theory? How does the Constitution operate today?  What is a federal 

system?



1. Patterson, Chapters 1-3 due read by 2/1  


B.  Civil Liberties and Civil Rights – We will examine the fundamental 


protections of liberty the Constitution provides.  Additionally, we will 


discuss the Civil Rights movement and its impact on the law and 


society.  

1. Patterson, Chapters 4-5 due read by 2/8 – In preparing for the 

exam make sure to use the study guide on page 9 of 
the coursepack.  Remember that about 60% of the test material comes from the lectures and cannot be found in the textbook.
   
C. Examination #1 – 2/20 – You will need Scantron form 882 for each



examination.    

II. Mass Politics and Un-Elected Policymakers: Political Participation, Political 
Parties, The Media, Elections, the Bureaucracy and the Judiciary   


A. Public Opinion, Political Participation and Voting – We will discuss the 


origins and content of public opinion in America.  Which citizens 


hold which opinions? Why do citizens hold the opinions they do? Of 


what consequence is public opinion for the operation of democracy 


in the United States?  Who participates in politics and what effect 


political participation has on policymakers.  Finally, we will discuss
 

which groups in the electorate support which political parties.



1. Patterson, Chapters 6-7 due read by 2/27

B. Political Parties and Interest Groups – We will discuss the role that 


political parties play in our electoral process.  Significant emphasis 


will be given to the policy differences between the parties.  



Additionally, we will examine the impact of interest groups.


1. Patterson, Chapters 8-9 due read by 3/7

C. The News Media – The impact of the news media on public opinion. 



1. Patterson, Chapter 10 due read by 3/14

D. The Bureaucracy and the Judiciary – We will examine the role, power, 


and impact of the federal bureaucracy.  Additionally, we will examine 


the role, power, and impact of federal, state, and local courts.



1. Patterson, Chapters 13-14 due read by 3/19 - In preparing for the 



exam make sure to use the study guide on page 10 of the 

coursepack.

E. Examination #2 – 3/21
III.  Elected Policymakers and Public Policy

A. Political Parties, Income Inequality and Public Policy
1. Coursepack, pages 11-47 due read by 4/4
B. The Presidency and Congress– We will discuss how the President and 

Congress perform their functions.  

1. Patterson, Chapters 11-12 due read by 4/11 

C. California Government and Politics 
1. The People of California, The Structure of Government in 

California and Elections in California 

a. Giventer, Chapters 1-3 due read by 4/18
2. California: Lawmaking, the Budget and Taxes 


a. Giventer, Chapters 4-5 due read by 4/25
3. California Policies: Criminal Justice, Employment, Education, Social 

Services, Energy and the Environment 



a. Giventer, Chapters 6-8 due read by 5/2

D. Examination #3 – 5/7 - In preparing for the exam use the study guide 

on pages 48-49, as well as pages 11-47 of the coursepack.  There will be many questions and points from both pages 11-47 of the coursepack and the Giventer book on both Exam #3 and the Final Exam.  
IV. Final Examination – Monday, May 14th, 10:15-12:15. – The materials on 
pages 9-47 of the coursepack will be useful.  Additionally, pay particular attention to the take-home final examination essay (pp. 48-53).  Regardless of the reason, if you do not submit a printed copy of the essay at the time of the final exam you will lose 10 points.  Printed copies are not accepted after the time of the final exam.  Furthermore, each additional day late lowers the final exam essay score by 10 points.  Just so it’s clear: if you do not have a printed copy of the final exam essay ready at the time of the final exam you have to email the essay (cdennis@csulb.edu) and that automatically lowers your score 10 points.  If you email the final essay the day after the final exam you lose an additional 10 points (i.e., you would have already lost 20 out of the possible 30 points for the final essay). That may critical be to your grade.  That’s the risk you take when you leave something to the last minute.  You cannot use completing or printing the final essay during the time period of the final exam as an excuse either to take a makeup final exam or get extra time to complete the final exam if you start late during the time period the final exam is given.  That won’t “fly.” If you do not have a printed copy of the essay ready to submit at the time of the final exam, email it to cdennis@csulb.edu.   

Study Guide #1PRIVATE 


You will need green Scantron form 882 for each test. Since all written answers are to be answered on the exam itself, you will not need a bluebook. Approximately 60%-66% of Exam #1 comes from the notes with the remainder being from the textbook.  The questions from the textbook are not covered in the lectures. Thus, to do well, you will need both a good set of class notes and a solid knowledge of the textbook. The structure of Exam #1 is as follows: 45% multiple choice, 25% short answer and 30% essay. 


As discussed in class, the major themes of this course are representation, fairness and freedom?    (1) How representative of public opinion are government policies and actions?  (2) How fair are government policies and actions? (3) How do government policies and actions affect the degree of freedom Americans possess? It will be especially useful for you to evaluate the various topics and concepts in light of these three questions.  While I won't tell you the questions, the following concepts and themes that I discussed in class will be very important on the test: Make sure you know each of the reasons discussed in class concerning why government is needed.  Additionally, make sure you can link the reasons to representation and fairness.   Why were the Articles of Confederation our governing document for such a short period of time? Define and explain the difference between the freedom "to" and the freedom "from"?  Was the U.S. Constitution written to promote the freedom "to" or the freedom "from"?  Why? How does Madison’s philosophy differ from Rawl’s philosophy? In terms of the level of taxation and public services, how does the U.S. compare to the democracies of Western Europe?  What are the advantages and disadvantages of federalism? What does the public vote on Proposition 8 (gay marriage) tell us about the difference in support for civil rights between the public and the courts?  Why wasn't a Bill of Rights included in the U.S. Constitution?  How does the U.S. Constitution change to fit changing circumstances (e.g., the Great Depression of the 1930s)? Under what circumstances is free speech reduced?  What free speech standard does the court typically use?   Examining both your lecture notes and the readings from the text, how could you argue that federalism increases the degree to which public policy is representative of public opinion?  How could you argue that federalism reduces the fairness of public policy?
 I’m not going to “tell you the answers” to these last two questions.  You need to think about the material we covered and formulate your own answers.

From the textbook it would be helpful to know the following: How is American political culture different from European political culture?  Distinguish between a democracy, a republic and a representative democracy?  What does the concept of limited government mean?  How did the economist Charles Beard view the constitution?  What is the difference between civil rights and civil liberties?  What is the separation of powers and why is it a basic tenet of the constitution?  What is the major counterweight to business? What is the difference between a federal and a unitary system?  What does equal protection mean in the context of race, ethnicity, gender or age/income?   How do Americans view Affirmative Action?  How do tax rates in the U.S. compare to Europe?  Be sure to answer the questions at the end of each textbook chapter.
Study Guide #2

The format/structure of Exam #2 is the same as Exam #1 (Scantron 882, no bluebook, etc.).   As discussed in class, the major themes of this course are: (1) How representative of public opinion are government policies and actions?  (2) How fair are government policies and actions?  (3) How do government policies and actions affect the degree of freedom Americans possess? It will be especially useful for you to evaluate the various topics and concepts in light of these three questions.  While I won't tell you the questions, the following concepts and themes that I discussed in class will be very important on the test:  How do the distinctions between economic and non-economic issues and abstract and specific issues help us understand public opinion?  Using the definitions I discussed in class, be able to define and differentiate between liberalism and conservatism.  How does the "four-celled" diagram (The Voters, The Republican Party, The Democratic Party and Libertarians - thus four "cells") differentiate between the parties? If you were a Democratic strategist, what type of issues would you stress? What is socioeconomic status? How and why is socioeconomic status related to public opinion? How and why is socioeconomic status related to political participation? What is the importance of the “60-30-10” diagram on political participation for how closely public policy mirrors public opinion? Why are political parties important? Why is the difference between cadre and mass membership political parties important? Why does America use a cadre party system?  How could you argue that political parties increase both representation and fairness? I’m not going to “tell you the answer.”  You need to think about both the class lectures and readings and formulate your own answer.   What is absolutist individualism and why is America so committed to it? Does the term "political right" mean liberal or conservative?  How do the left and right differ on noneconomic priorities? Which groups of voters tend to vote Republican?  Which groups of voters tend to vote Democratic?   Which issues tend to work in the Republicans favor?  Which issues tend to work in the Democrats favor?    What do public attitudes toward the Bush Tax Cuts tell us about how voters view the relationship between public policies (e.g., tax cuts and government spending on various programs)?   Why is “traceability”?  In terms of Congress, what do we mean by “Responsiveness without Responsibility”?  Why is Congress less popular than either the President or the Supreme Court?   What is the 95% rule?  On what policy dimensions do Democratic and Republican Congressmen differ most?  On what dimensions do they differ least?  

From the textbook it would be helpful to know the following: 

Do most Americans understand and apply ideological frames of reference?  What is the relationship between public opinion and public policy?  How does voter turnout in the U.S. compare to other nations?  How much attention do Americans pay to politics?  Why?  What is the difference between partisan realignment and dealignment? What is the difference between a political party and an interest group?  What is a "free-rider" and how do "free-riders" effect the ability of groups to organize? What is pluralist theory?  What is the effect of interest groups on public policy? In the view of the author of your textbook, what is the bias  in media coverage of politics? What is proportional representation and how does it impact smaller political parties? Do candidate-centered, as opposed to party-centered, campaigns increase or decrease the public's influence on officeholders? Why?  How would the author of your textbook describe the role of the bureaucracy in public policy? How accurate a predictor of their subsequent behavior is the partisanship of Supreme Court's justices?  Be sure to answer the questions at the end of each textbook chapter.

Political Parties, Income Inequality and Public Policy

One of the most important issues facing our nation is the dramatic increase in income inequality over the past 40 years.  While the share of income going to the richest 1% of American households has over doubled in the past 40 years, the share of income going to much poorer groups has declined sharply.   This raises a number of important questions.  Should government policy attempt to reduce income inequality?  If so, by how much?  How should our nation respond to a reduction in the relative size of the middle class, and reductions in social protections that private employment use to more fully provide (e.g., health care and pensions)?  Given the reliance of elected government officials on campaign contributions, to what extent is increased income inequality causing public policy to favor the wealthy over other income groups?  The purpose of this reading assignment is to: (1) examine the incentives of our two political parties in formulating policies dealing with these topics; (2) survey the level of income inequality and how it has changed over time; and (3) explore various possible public policies, and the costs and benefits they would provide both for our nation as a whole and for California. 

Incentives of the Two Major Political Parties

A major theme of this course is that the two major political parties provide voters very clear policy choices.   Many times I’ve mentioned that the voter who votes “the candidate” and not “the party” will often make a mistake.  A candidate’s party affiliation tells you a lot of what is politically important about them.  A related theme is that the reason the parties provide a clear and predictable “choice” is that,  economically, they represent very different groups of voters.    Lower-income voters are a much more important part of the Democratic Party coalition than of the Republican Party coalition.  By contrast, higher-income groups, especially business, are a much more important part of the Republican Party coalition than the Democratic Party coalition.  Nowhere is this difference more clear, or important, than on two economic issues that noticeably impact the degree of income inequality and are frequently at the center of political campaigns: unemployment and inflation.  Will we start by examining how unemployment and inflation affect income inequality.  It then makes sense to see what incentives each of the major political parties has to supply various unemployment and inflation levels.  

Unemployment has a large impact which disproportionately falls on low and middle-income voters.  Each additional percentage point in unemployment yields a decline of about a tenth of a percentage point in the share of income going to the poorest and next poorest 20% of American households.  For example, if the share of income going to the poorest 20% of American households was 4.0% (i.e., the poorest 20% of American households received only 4% of the income of all U.S. households combined), a one percentage point increase in unemployment would lower this share to 3.9% (Douglas A. Hibbs, The American Political Economy, Harvard University Press, p. 80 - the seminal work in this important field).  As unemployment compensation replaces only 22% to 37% of lost income (depending upon what state the unemployed person resides in), unemployment has very important consequences, especially for the poor (Hibbs, p. 58).  

The nonmonetary cost of unemployment is also quite high.  A sustained one percentage point increase in the unemployment rate ultimately produces 30,000  extra fatalities per year  (through increased crime, loss of health benefits, alcoholism, suicide, etc.- Hibbs, p. 50).  To put this in perspective, it is worth noting that over a 9 year period the United States lost just under 60,000 military personnel  in the Vietnam War.                             


Like unemployment, inflation also affects income groups differently. However, the costs of inflation fall much more on higher income groups than do the costs of unemployment.  Due to appreciating home values and indexed government benefits (e.g., Social Security payments are increased to offset the affect of inflation), the poorest 80% of American households are relatively unaffected by inflation.   However, inflation has a much greater adverse impact on the richest 20% of American households.  This is because the sources of income that makeup a greater percentage of the income of low and middle-income households, wages and salaries, are less affected by inflation than are income sources that flow almost exclusively to higher-income households (interest bearing securities, stocks, bonds, etc. – Hibbs, pp. 88-89). 


Any political party will need to better serve the interests of it’s supporters than the opposition party.  Otherwise, those voters are likely to vote for the opposition party.  As you’ll soon see, Democratic and Republican voters place different values on unemployment and inflation.  This is particularly important because unemployment and inflation typically involve “tradeoffs” (just keep reading – it will “make sense”).   Often policies which reduce unemployment increase inflation.   Thus, there is frequently a tradeoff between unemployment and inflation (i.e., what is better for one goal is worse for the other goal).  

The  Blinder Rule provides a relationship between unemployment and inflation that government can utilize in order to reduce either unemployment or inflation in the short-run (typically thought to be two years or less).  The Blinder Rule states that a 1 percentage point increase in unemployment above the natural rate of unemployment (whatever level of unemployment is necessary to keep inflation the same – i.e., not either increasing or decrasing - today about 4%) endured for a year lowers the core or underlying inflation rate (excludes food, shelter and energy) ½ of 1 percent (i.e., .5%).  

A useful concept in understanding the “politics” of unemployment and inflation is the marginal substitution rate:  the number of percentage points that unemployment would have to decrease if inflation increased by one percentage point for the President's support within the group to remain the same (just keep reading – it will make sense after an example).  Political scientists have found that the marginal substitution rates of voters are, roughly, as follows:  

 Democrats      Independents    Republicans         

         

  
       .90                       2.0                     1.5

The above can be interpreted as follows: if 80% of Democrats support President Obama and inflation increases 1 percentage point (which hurts Obama – voters don’t like inflation) and unemployment decreases .9 of a percentage point (which helps Obama – voters prefer lower unemployment) Obama's popularity among Democrats would remain at 80% (i.e., unchanged).  

Democratic voters are less averse to inflation than either Independents or Republicans. This is because it takes less of a reduction in unemployment to satisfy Democrats for a one percent increase in inflation than for either Republicans or Independents (i.e., .9 is less than either 1.5 or 2.0). Thus, as Democratic Presidents are more strongly supported by the poor (who are more adversely affected by unemployment), wouldn't one expect that Democratic Administrations would produce lower unemployment and higher inflation than Republican Administrations?  Yes!  That’s also what happens in the “real world.”  

Voter aversion to unemployment and inflation was behind the “politics” of the Obama Stimulus Plan.  The Democrats were willing to run a larger federal deficit in order to more stimulate the economy and reduce unemployment than were the Republicans.  This was, in large part, because the Democratic voter base is poorer, and more affected by unemployment than the Republican voter base.   That’s also the difference in health care: the Democrats are more willing to reduce the Bush Tax Cuts (that predominately favor higher-income households) and apply this money to reducing the number of Americans without medical insurance.  Democrats are poorer, and less likely to have medical insurance than Republicans.                        


Political scientists have long studied these questions.  The following summarizes what we have found:   after four years Democratic Administrations produce unemployment rates approximately 2% lower and inflation rates approximately 4% higher than Republican Administrations (Hibbs, pp. 248-254) .  

If you go back through American political and economic history, you’ll see similar partisan differences toward unemployment and inflation.  Typically, policies that produce greater relative economic stimulation and, hence, lower unemployment rates, but risk higher inflation (e.g., printing more money, lowering interest rates, running larger government deficits), have been more strongly supported by the Democratic Party because such policies more benefit middle and low-income households.  The Republican Party, more sensitive to the economic interest of the wealthy (hence to reducing inflation), have typically been either less supportive, or opposed, to highly economically stimulative policies.  
Additional insight can be gained if we examine relative living standards.  We can estimate your standard of living by taking your income, adding the value of government benefits you receive (e.g., food stamps) and subtracting taxes.  This concept is called “net income.”  The ratio of “net” income (money income plus the value of government programs minus taxes) of the richest 20% of American households to the poorest 40% of households is typically over 2.0 (i.e., the richest 20% of the households have over twice as much “net” income as the entire poorest 40%).  The richest 20% of households have over 3.5 times as much money income as the poorest 40% of households.  The difference is that “net” income subtracts out taxes and includes the value of many government programs.  Thus, government reduces income inequality.  This is one important reason why liberals like government more than conservatives.  Political scientists have found that the ratio of net income of the richest 20% of American households to the income of the poorest 40% of American households is lower under Democratic than Republican Administrations (Hibbs, pp. 232-242).  Thus, the poor get more in relation to the rich under the Democrats.  

Recent research by political scientists shows that all income groups up through the 95th percentile (i.e., all but the richest 5% of households – today those earning about $200,000, or less, per year) gain under the Democrats relative to the Republicans.  However, the poor gain at greater rate under the Democrats (Larry Bartels, Unequal Democracy, Princeton University Press).  Thus, while the rich gain under the Democrats, income inequality is lower under the Democrats.   

Our Current Situation

Currently, the United States is in the worst recession since the Great Depression of the 1930s.   The root cause of our current recession is that lax regulation of banks and lending institutions permitted more home loans than the income of the borrowers could sustain.  This occurred in a number of nations besides the United States (e.g., Ireland, Spain, etc.).  Increased lending increased the demand for housing, which further increased housing prices.  As housing prices increased, people borrowed more money against what they thought was their increased wealth.  Many people reasoned that since their house was worth more, their wealth was greater and they could immediately enjoy their increased wealth by borrowing money against the value of their home.   

In 1990, the average American household’s debt was equal to 83% of it’s income.  By 2007, average household debt had increased to 130% of income.  Eventually, the imbalance between what home owners, and those desiring to own homes, could afford materialized and fewer people could make the payments on the homes they had purchased or borrow against the equity they had in their current home.  As home loans dwindled, a significant source of consumer spending was lost.  Today, household debt has been reduced to approximately 118% of household income.  However, the reduction in consumer spending meant that businesses would need fewer employees.  All of these factors reduced consumer demand, which, in turn, greatly increased unemployment.   

So, what should the federal government’s response be?  The “short answer” is that the government needs to replace the spending that consumers have cutback.  If the government doesn’t provide this spending/stimulus, who will?  This means large federal deficits.  Large deficits are what ended the Great Depression.  A very plausible estimate of the relationship between stimulus and unemployment is as follows:  300 billion dollars of stimulus will reduce the unemployment rate by 1%.   The Obama Stimulus Plan was approximately 775 billion dollars spread over two years.   Given the composition of the Obama Stimulus Plan (e.g., tax cuts – which have low stimulative value) it is equivalent to about 510 billion dollars of stimulus rather than 775 billion dollars.  This means that, due to the Obama Stimulus Plan, the unemployment rate, while high, is about 1.7 percentage points lower that it would have been without the plan (510/300 = 1.7 -  see Paul Krugman, “Stimulus Arithmetic,” New York Times, January 6, 2009).  In order to fully offset the decline in consumer spending and reduce unemployment back to it’s pre-recession level of  5.8% would require a stimulus package at least three times the size of the Obama Stimulus Plan and spread over more than two years.   To make hiring feasible, businesses need to know that government support will last long enough to keep demand high enough to make hiring economically viable.  It’s not that the Obama Stimulus Plan “doesn’t work,” it’s simply too small given the size of the problem.

Many economists think that the federal government needs to do two things to improve the economy: (1) provide a larger stimulus than the Obama Stimulus Plan; and (2) more strongly regulate the financial markets (to avoid the bad loans that precipitated our current problems).  This is difficult for the Republican Party: their ideology conceives of government as “the problem,” not “the solution.” 

Income Inequality in the United States and Internationally


An important related topic to what we have been discussing is the degree of income inequality in the United States, as well as other nations, and how this is changing over time.  The following data will be of great value to us in this regard.  As the data below indicate, in 2009 the richest 5% of households in the United States received 20.7% of the income of all U.S. households combined.  This is over 4 times as much income as this group would have if income were distributed equally.  Thus, if income were distributed equally 5% of the households would receive 5% of the income, not 20.7%.

Income Inequality in the United States (1970-2009) and 

Other Wealthy Democracies (Mid-1980s)

                                                                             1970     1990     2009

                           Japan     U.K.     Sweden          U.S.      U.S.      U.S. 

     Richest    

     5%                                                                   15.6%  17.4%   20.7%      

     Richest 

     10%               22.4%     23.4%    28.1%

     Richest

     20%               37.5%    39.7%     41.7%          40.9%   44.3%  48.2%

     Next Richest 

     20%               23.1%    24.8%     21.0%          23.8%   23.8%  23.2%

     Middle

     20%               17.5%    17.0%     16.8%          17.6%   16.6%  15.3%

     Next Poorest

     20%               13.2%    11.5%     13.1%          12.2%   10.8%    9.4%

     Poorest

     20%                 8.7%     7.0%       7.4%             5.4%     4.6%    3.9%

Source: Berry, Bourguignon and Morrisson, pp. 62-63 in Lars Osberg, ed., Economic Inequality and Poverty and various tables from: http://www.census.gov/hhes/www/income/data/historical/inequality/index.html

When we examine high income categories (1970s-1980s) the U.S. appears as egalitarian as most other wealthy democracies.  However, the poor in the U.S. have a much smaller share of personal income than in other wealthy democracies.   Additionally, note how much greater share of income the richest 5% of U.S. households gained than other income groups over the 1970-2009 period (see the data immediately above).  
While the preceding percentage distributions of income are important, it can be more meaningful if we connect the distribution of income to actual dollar amounts of income.  For example, as the data immediately ahead show, if your household had an income of $180,000 in 2009, your household’s income was higher than approximately 95% of American households and lower than approximately 5% of American households.  

Connecting the Income Distribution to Actual Income in the U.S. - 2009

Minimum Income to be in the Richest 1/7th of 1% -           $1,100,000

Minimum Income to be in the Richest 1% of Households - $370,000

Minimum Income to be in the Richest 5% of Households - $180,001            


Income of the Household at the 80th Percentile                  - $100,000


Income of the Household at the 60th Percentile                  - $  61,801


Income of the Household at the 40th Percentile                  - $  38,550


Income of the Household at the 20th Percentile                  - $  20,453

(http://www.census.gov/hhes/www/income/histinc/h01ar.html - 




except for richest 1% and richest 1/7th of 1%)


The largest income gains of the last two decades have gone to the richest 1% of American households.  From 1993 to 2008, 52% of the increase in household income in the U.S. went to the richest 1% of the households (i.e., households earning over $370,000 in 2008). The following data shows the change in the share of income going to very high income groups.  For example, the “1/10th of 1%” column refers to the richest household out of a typical 1,000 households (i.e., 999 households out of 1,000 have a lower-income).  Additionally, over the 1980-2008 period, 98% of the income growth went to the richest 10% of income earners 
(http://www.stateofworkingamerica.org/pages/interactive#/?start=1980&end=2008 – calculated by economist Emmanuel Saez http://www.econ.berkeley.edu/~saez/).
Return of the Gilded Age: Income Shares within the Richest 10%



Year              10%      1%         ½ of 1%               1/10th of 1%       

                                                                (richest 1 of 200)  (richest 1 of 1,000)                     

          

1920             39.0     14.8            11.1                          5.4                         

           
1940             45.3     16.5            12.3                          6.0          

           
1960             33.5     10.0              7.1                          3.3

           
1970             32.6       9.0              6.3                          2.8   

           
1980             34.6     10.0              7.2                          3.4 

           
1990             40.0     14.3            10.9                          5.8

           
2000             47.6     21.5            17.5                        10.9

          

2008             48.2     21.0            16.9                        10.4

(Emmanuel Saez-  http://elsa.berkeley.edu/~saez/ Income and Wealth Inequality, Updated to 2008, Table A3 includes capital gains and excludes gov.  transfers) 

If you include government transfers and subtract taxes from 1979 to 2006, the richest 1% of households had a 256% increase income while middle-income households (40th-60th percentiles) had a 21% increase and low-income households (1st-20th percentiles) only an 11% increase (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, p. 23).

In the United States today, the richest 1% of households have over 1.5 times as much income as the entire poorest 40% of households combined ( e.g., in 2008 the richest 1% of the households received approximately 21% of the income – see page 16 - whereas the poorest 40% receive approximately 13.3% of the income – see page 15 for 2009: look at the poorest two quintiles and you’ll see they received 9.4% and 3.9% of the income – which equals 13.3% -  21%/13.3 = 1.57).  As Los Angeles Times columnist Tim Rutten noted, between 1992 and 2007 America’s 400 richest households increased their average income by 399%, while the poorest 90% of American households gained just 13% (Tim Rutten, LA Times, 2/24/10 using Emmanuel Saez and Thomas Piketty’s data - http://elsa.berkeley.edu/~saez/) .  

Notice how much greater the share of income going to the richest 1% is today than it was 20-40 years ago. This is much greater than other wealthy democracies are willing to tolerate.  For example, in 2008 the richest 1% of the households in the U.S. had approximately 21% of the total income of all U.S. households.  This is roughly twice as high a percentage as in Canada, Japan, Great Britain, the Netherlands, Sweden, Switzerland, France, Spain, Australia and New Zealand (Hacker and Pierson, Winner-Take-All Politics, page 39).  While there is some mobility (i.e., families moving in and out of either the richest 20% or the poorest 20%) only 3%-6% of U.S. households go from either the richest 20% to the poorest 20%, or vice versa, over a decade.  Thus, there is not much mobility.

In California, between 1987 and 2009, more than 33% of the income gains went to the richest 1% of Californians, and almost 75% went to the richest 10% while the bottom 90% received just over 25% of the growth in incomes. During the last two decades, the average income of the richest 1% of Californians increased by more than 50%, after adjusting for inflation, while the average income of the middle fifth (i.e., the 40th – 60th percentiles) decreased by 15%.  In 2009, the average income of the richest 1% of Californians was $1.2 million – more than 30 times that of Californians in the middle fifth. California’s income gap is wider than most other states. (LA Times, 11/23/11 page A17)
One could look at the preceding data showing what a small percentage of the income low-income Americans receive and still have this question: although high-income groups have a much greater share of the income than low-income groups, don’t the poor in the United States live at a higher standard than the poor in all other nations?  The short answer is “no.”  In the 1990s, despite the fact that the median American household (i.e., the middle household – half the households had higher incomes and half the households had lower incomes) had an income 22% higher than the median in Finland, the Netherlands or Italy, Americans in the poorest 10% had a living standard 22% below low-income Finns, 24% below low- income Dutch and 15% below low-income Italians.  However, the wealthiest 10% of Americans had incomes 50% higher than the wealthiest 10% in the other OECD nations (i.e., the democracies of Western Europe – Great Britain, France, etc., plus the U.S., Canada, Japan, Australia and New Zealand). (Smeeding, Challenge  Magazine, Sept./Oct., 1996, p. 49) 

One fundamental reason the poor in the U.S. have a lower standard of living than in several other nations is that, after taxes, the U.S. transfers only about one-third the percentage of income to the poorest 20% of households (1.5%) as does the average (4.2%) of the world’s wealthy democracies (i.e., the nations of Western Europe, Canada, Japan, etc. – Marco Mira d’Ercole, “Income Inequality in OECD Countries: How Does Japan Compare?,  Japanese Journal of Security Policy, Vol. 5, No. 1, June 2006, pp. 1-15, see page 9).  Additionally, labor unions, which are typically the strongest advocates for public policies that primarily benefit middle and low-income households, are much weaker in the U.S. than in Europe (Hacker and Pierson, Winner-Take-All Politics, pp. 56-61).


Sweden offers an interesting comparison to the United States.   The median Swedish family has a living standard roughly comparable with that of the median U.S. family: wages are, if anything, higher in Sweden, and a higher tax burden is offset by public provision of health care and generally better public services. As you move further down the income distribution, Swedish living standards are much higher than in the U.S.: at the 10th percentile (poorer than 90% of the population) the Swedish living standard is 60% higher than in the U.S.   The reason that income per person is higher in the United States than most other wealthy nations is that while low-income persons in the U.S. are poorer than some of their foreign counterparts the richest 1%-3% of U.S. households are much wealthier than their foreign counterparts.   

In this light it is worth noting that approximately 38% of the benefits from the Bush Tax Cuts go to the richest 1% of the households (i.e., the same households who have been receiving a much higher share of personal income over the past 40 years).  The richest 1% of U.S. households receive more money  from the Bush Tax Cuts than the entire poorest 70% of U.S. households combined (roughly households with annual incomes of about $90,000 or less).  Primary sources for the past several paragraphs are: “Year by Year Analysis of the Bush Tax Cut,” Citizens for Tax Justice, www.ctj.org, page 2 and “For Richer,” Paul Krugman, New York Times, October, 2002.


In terms of assessing the degree of economic inequality, income is only part of the picture.  We also need to examine wealth.  Wealth is a storehouse of assets: trusts, stocks, bonds, etc. whereas income is what you live on over a short period – say, a year.  As the following statistics will make clear: Wealth is  even  more unequally distributed than income. In the United States the wealthiest 1% of households have over 33% (2006-2007, 35%) of the national wealth while the poorest 50% of households have approximately 7% of the national wealth (sources: Lester Thurow, Generating Inequality, pp. 14-15; Los Angeles Times, September 17, 2000, p. M2, Article on Estate Tax; Los Angeles Times, Sept. 20, 2011, p. A11).


A very compelling case can be made that the previously mentioned income and wealth data actually understate the “true” level of inequality.  Here’s why: they do not take into account need, supplement sources of income and non-monetary bonuses (just keep reading).  For example, if your family has a remedial health care need (e.g., an autistic child) you have to spend some portion of your income to pay for this special need.  Poor families disproportionately have such needs.  Additionally, poor people do not have the same ability to borrow money from friends in the event of an emergency as wealthier people (i.e., the friends of the poor tend to also be poor and cannot as readily give, or loan, money to a poor friend in need). Furthermore, middle and upper-income groups get non-monetary bonuses much more frequently than the poor.  For example, if you’re flipping the Whoopers for Burger King, I’ll bet you didn’t go to work in a company car!  But Burger King Executives probably did.   A company car doesn’t count as “income.”  

What Americans Think About Inequality


So far, we’ve seen that the United States has a much higher degree of income inequality than other Western democracies and that the degree of income inequality in the U.S. is increasing substantially.  Since a democratic political system should, in part, be guided by public opinion it is reasonable to ask: What does the American public think about the degree of income inequality?  Depending upon how the question is asked, Americans do tend to think the rich have too much in relation to middle and low-income groups.   

To keep this short, a rather large amount of research tells us the following: (1) Americans vastly overestimate their chances of becoming rich; (2) vastly underestimate the degree of income inequality (i.e., do not think the wealthy are as wealthy as the actually are); and (3) have a difficult time connecting public policy to economic outcomes (e.g., not that many see the Bush Tax Cuts as a tremendous redistribution to the wealthy - that the Bush Tax Cuts primarily go to high-income households and these tax cuts will require reducing funding for programs that primarily benefit middle and low-income households).  All of this greatly helps conservatives.  For example, you are less likely to support raising taxes on the wealthy if you think: (1) you will become wealthy; (2) the wealthy really aren’t “that wealthy”; and (3) don’t know much about the distribution of the  benefits from the Bush Tax Cuts or the service reductions they will necessitate.  When Americans are shown the actual degree of income inequality, their support for government efforts to reduce the income differences between the rich and poor approximately doubles (from 25%-30% to almost 60% -  Jacob Hacker and Paul Pierson, Winner-Take-All Politics, p. 155).   


Americans do desire a less unequal distribution of wealth.  Recently, two scholars tried an interesting experiment.  Currently, wealth in America is distributed as follows: the richest 20% of households (percentiles  81-100) have approximately 84% of the wealth, the next richest 20% (i.e., percentiles 61-80) have approximately 11%, the middle quintile (i.e., percentiles 41-60) have approximately 4%, the next poorest 20% (i.e., percentiles 21-40) have approximately .2% (two tenths of 1%) and the poorest quintile (i.e., percentiles 1-20) have approximately .1% (one tenth of 1%).  


Not being told what nations had what distribution of wealth, Americans were offered three choices: (1) the current American distribution of wealth; (2) perfect equality (i.e., each quintile getting an equal – 20%-  share of the wealth); or (3) the current Swedish distribution of wealth [the richest 20% of households (percentiles  81-100)  approximately 36% of the wealth, the next richest 20% (i.e., percentiles 61-80)  approximately 21% of the wealth, the middle quintile (i.e., percentiles 41-60)  approximately 18% of the wealth, the next poorest 20% (i.e., percentiles 21-40)  approximately 15% of the wealth and the poorest quintile (i.e., percentiles 1-20)  approximately 11% of the wealth].  According to Michael Norton of the Harvard Business School and Dan Ariely of Duke University, the results were as follows: 47% chose Sweden’s distribution, 43% chose perfect equality while only 10% chose the current American distribution. (source: Michael Norton and Dan Ariely, “Building a Better America - One Wealth Quintile at a Time,” Perspectives on Psychological Science).  

Public Policy Options


If I were reading this when I was the age of most of you in this class (far too many years ago!), I would have felt like raising the following three points: First, just because someone begins life poor doesn’t mean they have to remain poor. Second, wouldn’t government attempts to reduce income inequality reduce the incentives for people to earn high-incomes, thus lowering the overall quality of life in the United States?  Third, wouldn’t a government large enough to undertake the programs necessary to greatly help low and middle-income households lead to a reduction in the freedoms we read about early in the semester (e.g., freedom of speech, press, etc.)?  

All of these are important considerations.   Fortunately, political scientists, economists and sociologists have thoroughly studied these topics.  Let’s examine what they’ve found.  While the research is far too numerous to summarize in this short a reading, I can give you the “gist” of it.   


While it is true that anyone can “rise from the bottom and get to the top,” it is also true that where you begin life is strongly related to where you end it.  To offer an opinion, the high levels of income inequality in the United States would be much more defensible if everyone had an equal chance.  This would mean that the income of your parents would be unrelated to your eventual income.   That is not the world we live in!   

If you compare the eventual income of two children from different families, on average, the child from the richer family receives an annual income that is higher than the child from the poorer family by approximately 30%-40% of the difference in the incomes of their parents (study results courtesy of Sociologist Christopher Jencks).  For example, a child from a family that made $100,000 per year would, on average, out earn a child from a family that made $25,000 by approximately $25,000 per year (the difference in their parents incomes was $75,000 – i.e., $100,000 - $25,000 = $75,000; 33% of $75,000 = $25,000).  Thus, if later in life the child of the poorer family was earning $25,000 per year and the child of the richer family was earning $50,000 per year, you could say that the difference was entirely due to background.  Given that the average U.S. household has an income of around $60,000, the $25,000 annual “dividend” the child from the $100,000 household has over the child from the $25,000 household is important (it would be about 40% of the average income – i.e., $25,000 is roughly 40% of $60,000).


From different sources I can also tell you the following concerning mobility between income groups over the life cycle: (1) children born into the poorest 20% of households have approximately a 42% chance of ending up in the poorest 20% themselves, a 24% chance of ending up in the next poorest 20% and only a 6% chance of ending up in the richest 20%.  Conversely, those born into the richest 20% of households have nearly a 40% chance of ending in the richest 20% themselves, while barely a 6% chance of ending up in the poorest 20%; (2) Father’s and Son’s incomes in the U.S. correlate at about .43 (correlation ranges from 0 to 1.0 so this is a moderate correlation – taken from an average of several studies), and is higher in the U.S. (i.e., less mobility) than in Sweden, Norway, Finland, France, Spain, Germany, and Canada.  Socioeconomic factors (i.e., intelligence, schooling, parent’s wealth, etc., account for only about 1/3 of the differences – Rags to Riches? 2004 - www.tcf.org and Hacker and Pierson, Winner-Take-All Politics, page 29).  Mobility is limited in the U.S., probably due to less spending on social welfare programs.  Thus, where you start is strongly related to where you finish.  Since you can’t pick which family you’re born into, this means that luck is very important in terms of your eventual position in the income distribution!  This is troubling because “luck” isn’t “merit.” 


Consider how the Bush Tax Cuts affect mobility from low to high-income groups.  First, by repealing the estate tax and reducing other taxes on high- income individuals, the Bush Tax Cuts give the wealthy more wealth to leave their heirs.  Obviously, this makes it more difficult for most of you to try to amass more wealth than the heirs of the currently very wealthy due to the fact these heirs will be given such a tremendous head start on you.  Second, by reducing the revenue of the federal government, the Bush Tax Cuts will all but require reductions in programs that help low and middle-income people ascend the economic ladder (e.g., the Pell Grant Program for poor college students, health care for the poor, job training, public transportation, etc.).  So, would repealing the estate tax (the tax on inherited wealth) with ensuing reductions in programs that help low and middle-income people increase their future earnings reward “luck” or “merit”?  


The Bush Tax Cuts reveal a very pertinent fact about economic policy: there is often a great difference between programs that help the non-wealthy acquire wealth versus policies that protect the wealth of those who already have it.  What is good for one group is not necessarily good, and often harmful, for the other group.   Approximately 75% of American household lose under the Bush Tax Cuts.  Since it is hard to imagine how someone can lose out of a tax cut, let me explain.  Roughly, the poorest 20%-25% of American households are too poor to pay federal income taxes.  Thus, any reduction in government services that would occur because of reduced federal revenue resulting from the Bush Tax Cuts would automatically adversely affect the most needy U.S. households.  

Since the Bush Tax Cuts reduce federal revenue, they will likely increase the size of the federal deficit.  This means that the federal government will have to borrow more money.  Increased federal borrowing will increase the cost of a loan.  Thus, the Bush Tax Cuts will increase the cost of borrowing money for the poor (e.g., to finance a car).  For the poorest 75% of American households, the value of foregone government services (e.g., less money to subsidize public transportation, health care, etc.) and additional borrowing costs are larger than the value of their Bush Tax Cut.   

The real gains from the Bush Tax Cuts go to households with incomes much higher than the median.  The average Bush Tax Cut is $1,126 but 83% of households receive less than $1,126 and 53% of households receive only $100, or less!  The “average” gain of $1,126 is achieved by having a relatively small number of households receive very large amounts of money.  The median U.S. household (i.e., half the households have a higher income and half the households have a lower income) receives only $217 from the Bush Tax Cuts (“Year-by-Year Analysis of the Bush Tax Cuts Shows Growing Tilt to the Very Rich,” Citizens for Tax Justice, www.ctj.org, June 12, 2002). That’s why an “average” can be misleading.  The median tax cut (half the households above and half below) provides a much more accurate picture of what the typical household receives than the mean cut. This is why the Bush Administration always mentioned the mean tax cut rather than the median tax cut (i.e., it looks like the average household gains more – they don’t, but it appears that way).  



Before leaving the Bush Tax Cuts, one additional point should be made: relative to other policy options the Bush Tax Cuts are one of the very least effective, and most costly, methods of stimulating the economy and, ultimately, reducing unemployment.  As economist research indicates: lower-income households spend a higher percentage of each additional dollar they receive than higher-income households.  For example, a household with a $40,000 annual income will spend a higher percentage of each additional dollar it receives than a household with a $200,000 annual income.   This is because lower-income households have greater unmet needs than higher-income households (e.g., replacing a worn out television set, car, etc.).  By showering more money on the richest 1% of households (i.e., households with incomes above $370,000) than on the entire poorest 70% of households combined, the Bush Tax Cuts place the most money in the hands of those least likely to spend it.   

Contrast this with the policy options favored by the Obama Administration and Congressional Democrats: reducing payroll taxes (e.g., Social Security and Medicare taxes), extending unemployment compensation and spending more money on infrastructure (e.g., roads, bridges, etc.).  Since payroll taxes take a greater percentage of income from low-income than from high-income households and the unemployed (as we saw earlier) are more likely to come from low and middle-income groups, every dollar spent on either payroll tax reduction or unemployment compensation will generate more spending than the same number of dollars spent through the Bush Tax Cuts.  The following indicates how much additional economic activity occurs per dollar spent: extending unemployment compensation - $1.60; payroll tax reduction - $1.09; extending the Bush Tax Cuts - $.35 (i.e. for each dollar given to tax payers through the Bush Tax Cuts, we only receive 35 cents of additional economic activity – only a fourth as much per dollar spent as on unemployment compensation – i.e., $.35 is about ¼ of $1.60 - and about 1/3 as much as reducing payroll taxes – i.e., $.35 is about 1/3 of $1.09 -  source: “Zandi Estimates Show “Democratic” Measures in Tax Cut – UI Deal Boost Economy, “Republican” Measures Add to Deficit Risks,” Center for Budget and Policy Priorities – December 22, 2010 – available at www.cbpp.org - these are similar findings to the nonpartisan Congressional Budget Office).   

Since all income groups will save some percentage of the money they receive (i.e., lower-income households will save some money, just not as a great percentage as higher-income households), having the government directly spend money is more stimulative than tax cuts.   For example, if a household receives a tax cut of $1,000 and spends $930 of it (i.e., saves $70), this is less spending than results from having the government directly spend the entire $1,000.   Thus, having the government directly spend money is more highly stimulative and, ultimately, reduces unemployment more than the same amount of money spent through tax cuts.  

Given the previous discussion of which income groups are most harmed by either unemployment or inflation, and the fact that lower-income groups vote more Democratic than higher-income groups, isn’t it clear why the two major political parties choose very different policies concerning unemployment, inflation, taxation and extending health care coverage?   Both major U.S. political parties are pursuing policies that more benefit their supporters than the policies of the opposition party.  That makes sense.    


The second consideration I raised was that high taxes would undermine economic growth.   Thus, if the government both taxes and spends a large share of the economy won’t  we end up with more equal slices of a smaller pie (or a pie that isn’t growing as fast as it otherwise would)?  While this is an important point, the evidence in favor of it is not compelling. As the textbook in this course mentions, tax rates as a percentage of the economy are much lower in the U.S. than in most wealthy democracies: U.S. - 27%, Canada – 34%, Germany – 35%, Great Britain – 37%, Italy – 41%, France – 44% and Sweden - 51% (Patterson, The American Democracy, 10th alt. ed., p. 17).  Additionally, governments in the U.S. spend a smaller percentage of the economy and provide a weaker social safety net than European democracies.  For example, the U.S. is the only wealthy democracy that does not guarantee health care to all citizens.   Moreover, governmentally provided child care/day care, while commonplace in the other wealthy democracies,  is not a “right” in the United States.   Furthermore, governmental provided pensions (Social Security in the United States) are less generous in the U.S. than in other wealthy democracies.  Therefore, the working poor in the United States have to purchase very costly benefits/services (often health insurance and/or out-of-pocket medical expenses, child care and enhanced retirement benefits) which are typically governmentally provided in other wealthy democracies (David Brady, Rich Democracies, Poor People, Oxford University Press).

If the “big government reduces growth” argument is true, since U.S. governments spend less of the economy, tax less and provide weaker social guarantees than European nations, the U.S. should have a higher economic growth rate.  The truth is that the U.S. growth rate is about average among the wealthy democracies of the world.  From 1990-2005 per capita (i.e., per person  - to adjust for differences in population size between nations) growth rates were as follows: U.S. - 85%, Netherlands – 86%, Norway – 134%, France – 60%, Australia – 91%, Canada – 69%, Denmark – 80%, United Kingdom – 111%.  “Since 1980, per capita real G.D.P. (Gross Domestic Product) – which is what matters most for living standards - has risen at about the same rate in America and in the E.U. (European Union - 1.95 percent here; 1.83 percent there - Paul Krugman, “Learning From Europe,” New York Times, January 11, 2010).  As economist Peter Lindert of the University of California at Davis put it, “No matter how you torture the data, there is no negative relationship between a commitment to the welfare state and the growth rate in how well off we are.”  While taxes may reduce the willingness of some to work as hard, many of the purposes for which tax dollars are spent (e.g., education, infrastructure, etc.) increase the growth rate.   


As Paul Krugman notes, “The point isn’t that Europe is utopia.  Like the United States, it’s having trouble grappling with the current financial crisis.  … But taking the longer view, the European economy works; it grows; it’s as dynamic, all in all, as our own.” (Paul Krugman, “Learning From Europe,” New York Times, January 11, 2010).  The European system puts the individual much less at economic risk than our system, achieves a similar rate of growth and has much lower income inequality.  
  
While a free market (defined as voluntary exchanges between mutually consenting individuals) is very good at channeling resources into their most productive use (e.g., How much should be invested in book stores vs. clothing boutiques?), it is not very good at providing broad-based social insurance (e.g., health care, retirement pensions, etc.).   As political scientist Jacob Hacker notes, “In the fiercely competitive market of economic textbooks, multiple sellers appeal to multiple buyers who have good information about the comparative merits of relatively similar products.  Competition squeezes out inefficiencies and yields optimal outcomes.  But ‘markets’ for social insurance (e.g., health care, retirement plans, etc.) don’t work like this.   In particular, information in these markets is both scarce and unequally distributed.  Consumers, for example can saddle private insurers with “adverse selection,” which occurs when only high-risk folks buy insurance.”  


For example, suppose just those people highly likely to get cancer buy health insurance.  The rates would be extremely high because there would be few “healthy” people to spread the costs of the cancer patients over.  That’s why compulsion (i.e., a government requirement that each person buy health insurance) is necessary if we desire broad-based health care coverage.  That’s also why the government needs to regulate what level of benefits insurance companies can offer.  Without such regulations, insurance companies can offer low-risk individuals (e.g., the young and healthy) minimal coverage at low rates while excluding coverage for costly items.  While such policies would be inexpensive to those insured under them, they would not bring in the amount of money necessary to avoid having high-cost patients pay a prohibitively high price for the services they use.  For example, without shifting much of the cost to healthy individuals, how could someone with a minimum wage job pay for open heart surgery?  They couldn’t.  That’s why the costs need to be shifted to healthier patients.   


On the producer side, health insurance companies can take steps to avoid costly patients (e.g., by denying coverage to people with unhealthy family histories).  All of this is why health insurance aimed at achieving social objectives (e.g., that everyone have health insurance) has never worked well, or indeed at all, without some governmental support and regulation (e.g., a requirement that everyone buy health insurance, that health insurance companies sell only policies covering a very wide range of conditions and subsidies for the poor to help them buy insurance).  


While discussing government regulation, it is important to discuss government rationing.  For example, in the debate over President Obama’s health care plan opponents claimed that the government would determine what care  patients received.  Furthermore, they claimed the government could deny care (e.g., “Death Squads for the Elderly”).  Health care is a scarce resource.  It uses limited resources and, hence, not all possible uses of those resources can be undertaken.  This means that health care must be rationed.  


Every health care system in the world, including our own (even before President Obama’s health care plan became law), rations health care.  For example, would you pay an additional $200 per month for health care in order to prolong the life of terminally ill patients an average of 3 months?  If “yes,” how about $400 per month?  Once you say “no” (i.e., refuse to pay), you are rationing health care (Peter Singer, “Why We Must Ration Health Care,” New York Times, July 19, 2009).  The only options we have are to determine how much money we will spend on health care, who makes the rationing decisions and by what criteria.   To those who think the government shouldn’t make rationing decisions, let me offer the following question: Would you prefer to have a government panel – typically headed by physicians – make the necessary rationing decisions or would you rather have a for-profit insurance company make them?   That’s the choice we actually have.     


We can choose the criteria by which we ration.  At the current time we largely ration “by price/ability to pay.”  Thus, you get what health care you can afford.  This is not the only principle by which we could ration health care.  Should a patient’s effort affect their ability to receive health care?   For example, if your doctor tells you to quit smoking and/or lose weight, should a person who follows such advice receive better health care than someone who doesn’t?


Government policies do have important affects on the rationing decisions that all health care systems must make.  For example, cigarette taxes reduce cigarette smoking.  Economists have found that a 10% increase in the cost of cigarettes reduces smoking by about 3%-4%.  Thus, cigarette taxes reduce the amount of smoking which, in turn, reduces the onset of a large number of adverse health consequences (e.g., cancer, heart attack, stroke, etc.).  Without cigarette taxes, the demands on our health system would be even greater.  Assuming the same amount of money to spend, without cigarette taxes we would have less money to “ration” to other health care needs (e.g., diabetes) which would mean less treatment for those with important medical needs.  One of the reasons to mention this is that many of those who claim the Obama Health Care Plan will lead to government rationing of health care to the elderly are the same individuals/groups who oppose government regulations (e.g., soda taxes, meat taxes, restaurant menu labeling requiring disclosure of calories, fat, sodium, etc.) which would greatly reduce adverse health consequences (e.g., obesity) which, in turn, would leave more money for the health care needs of senior citizens.   



Broad-based government programs, such as Medicare (a government health care program for senior citizens), have two big cost saving advantages over a completely free market social insurance system: (1) compulsion – i.e., requiring everyone to buy health insurance lowers the cost because the cost of the “expensive” individuals (e.g., those likely to be ill) is spread over a large group (e.g., the healthy) and; (2) administrative cost (e.g., the typical private health insurer spends about 10% of its outlays on administrative costs, weeding out sick people, etc. whereas the government run Medicare program spends between 2%-3% of its budget on administrative costs).  The preceding are two of the major reasons why the #1 ranked (by the World Health Organization) French health care system spends only half as much money per person as the 37th ranked U.S. health care system (France - $3,600, U.S. - $7,200).  I’m sure former congressman Dick Armey spoke for many when he said, “The market is rational; government is dumb.”  However, this would not seem to be the case with the provision of social goods.  Some of the material in the preceding seven paragraphs was adapted from Jacob Hacker, “Bigger and Better,” The American Prospect, May 6, 2005.        


It is important to point out that government run programs such as Medicare aren’t the same as government ownership of productive assets.   Medicare doesn’t own hospitals or employ doctors, it contracts with privately owned hospitals and private physicians.  I should also mention that government programs such as Medicare and Medicaid (a government run health care program for the poor) currently pay substantially more of our nation’s health care costs (approximately 47%) than private insurance (approximately 35%).   Thus, realistically, we can’t “get the government out of health care.” 


It should also be mentioned that the democracies of Western Europe are, in the main, not socialist nations.  Socialism means that the government owns the modes of production and distribution.  For example, socialism in the U.S. would mean that the government would own the major fast food outlets (e.g., McDonalds, Wendy’s etc.) as well as communications companies (e.g., Verizon).   Neither the United States nor most all of the democracies of Western Europe (e.g., Great Britain, France, Denmark, Sweden, etc.) are socialist.  There is a huge difference between having higher tax rates and government spending than the United States (which the governments of Western Europe do have) and having the government own the major providers of goods and services (which the governments of Western Europe typically do not do).


The last of the three previously mentioned “considerations” about the size of government concerned the impact of the size of government on personal freedom.  Equating the size of government with personal freedom often involves equating private property with personal freedom.  This is difficult.   For example, would most Californians have more freedom if the beaches were sold to private individuals or if the State of California operates them?  At least to me, it is far from obvious that selling off state beaches to private individuals would increase the freedom most Californians enjoy.  Additionally, if state taxes were reduced taxpayers would have a greater freedom of choice in spending their money.  However, if these state tax cuts resulted in higher fees for U.C. and CSU students fewer students would attend college.  Not attending college would reduce both the future incomes and occupational choices of the individuals who did not attend college due to the budget reductions resulting from the state tax cuts.  In short, it would reduce their future freedom.  So, would such a state tax cut result in a “net” gain or loss in freedom?


In a related vein, I can understand someone opposing the requirement to buy health insurance on the basis that it denies the freedom not to buy health insurance.  However, before concluding that a requirement to buy health insurance reduces personal freedom, consider the ramifications that not requiring individuals to purchase health insurance has for personal freedom, as well as other possible societal values (e.g., fairness, security, etc.).   


If we do not require individuals to purchase health insurance, the “more healthy” (those less likely to need medical care) are less likely to buy insurance.   Without a governmental regulation requiring all individuals to buy health insurance there would be fewer “healthy” insured people to spread health care costs over.   Consequently, the cost of purchasing health insurance for the “less healthy” would increase.   As the cost to the “less healthy” increases, fewer of them will be able to afford health insurance.  If the lack of health insurance causes them either to not receive health care, or receive care at a time when their condition is no longer as curable (e.g., receiving late stage cancer treatment in an emergency room rather than early stage treatment when their disease would have been more curable), these individuals are more likely to die prematurely.   This will certainly reduce their individual freedom.  How much freedom can you use when you’re dead?   Thus, a relatively small loss in freedom for a large group of people (requiring each person to purchase health insurance) will provide a much larger amount of freedom (to make all the decisions living people can make) for a smaller group of people (the unhealthy).   If so, has the amount of freedom either increased or decreased?  It’s not so easy to answer!  You would have to balance the loss of many small amounts of freedom against a fewer large gains in freedom.       


While governments can greatly curtail freedom (e.g., the former Soviet Union), governments can also tax much more highly than in the United States, run health insurance programs, provide many more social guarantees than we have in the United States and still maintain a very high level of freedom.  This is a topic political scientists have studied at length.  We have devised interesting measures of freedom and democracy.  People in the democracies of Western Europe are typically as “free” as Americans.  For example, free speech in Great Britain is as great as it is in the United States.  Additionally, some Western European nations actually have higher scores on some measures of democracy than the United States.  Typically, this occurs because of lower voter turnout and fewer major political parties in the United States.  


As mentioned previously, the private market won’t distribute social goods (e.g., insuring everyone for health care, eliminating poverty, etc.) in a way that citizens need.  Before we had Social Security, a large percentage of the elderly were destitute.  Free market mechanisms alone can’t solve such problems because private income is inadequate to pay for social needs (i.e., the poor are “poor” because their marketable resources – e.g., labor, etc., don’t provide enough money).   The “big picture” is that, if we wanted to, our nation could reduce economic inequality significantly and still have an equally vibrant, growing economy with the same level of freedom we currently enjoy.   This is really a question of values (i.e., Do we want to?) rather than possibilities (i.e., Could we?)


One last point about the consequences of governmental attempts to redistribute income concerns the performance of our democracy.  Increased redistribution of income and wealth might well improve the functioning of democracy in the United States.  What some refer to as “the Debilitating Cycle” is a very important problem: greater income inequality leads to a greater reliance of politicians on campaign contributions from the wealthy, which, can easily cause these same politicians to adopt policies that even more favor the wealthy, which starts the same cycle again (Larry Bartels, Unequal Democracy, Princeton University Press).  

A new study by Page, Bartels and Seawright (“Democracy and the Policy Preferences of Wealth Americans”, paper presented at the annual meeting of the American Political Science Association, 2011) shows how different the policy preferences of the wealthiest 1/10th of 1 percent (those with a net worth of approximately $40 million or more) from those of the average American.  Relative to the average American, the very wealthy are:  (1) much more concerned about budget deficits; (2) much more favorable to cutting social welfare programs, especially Social Security and health care; (3) are considerably less supportive of an above-poverty-level minimum wage, or having the federal government “see to” or provide jobs for the unemployed; (4) much less supportive of providing broad educational opportunities; (5) much less willing to redistributive income to those poorer than themselves; (6) less willing to raise taxes on high income groups (e.g., less supportive of having an estate tax); and (7) are less willing to regulate either the stock market or businesses.  Now think of how the increased share of income going to this group increases the reliance of politicians on the campaign contributions of a group which is much more conservative economically than the general public.   This is highly likely to cause public policy to be skewed away from the interests of average Americans.   While extremely high income groups have received a greatly increased share of the income over the past 40 years, the percentage of the workforce that is represented by unions (an obviously group that would oppose the views of the very wealthy on virtually all of the policies just mentioned) has greatly declined (1954 – 32%, today 13%).  This combination (a greatly increased share of income/wealth going to very wealthy citizens coupled with a greatly declining percentage of the workforce unionized) means that the political incentives of politicians have, on economic issues, moved considerably to the political right over time.  This is also a major reason why public financing of campaigns could greatly improve the functioning of our democracy.   
Republican and Democratic Party Proposals for the Present and Future


Let’s apply the aforementioned considerations (size of government and economic growth, size of government and freedom, and public sector vs. private social welfare programs) to the philosophy of the two major parties toward both our current and future economic problems.   President George W. Bush proposed a series of policies to deal with our nation’s economic future that were collectively referred to as “The Ownership Society.”  The idea is that each individual citizen would “own” items that had previously been provided by the government.  For example, if each individual citizen can choose how to invest their money in a personal Social Security Account you could say that person “owned” their retirement.  If a person were either given a set amount of money to spend by the government for health insurance (i.e., a health insurance voucher) and/or saved money in a Health Savings Account to use for medical expenses, you could say that  person “owned” their health care.  Similarly, if a person saved money for college in an Educational Savings Account, you could say that person “owned” their college education.  


Since we’ve discussed health care at length let’s see how “The Ownership Society” would have changed American health care policy and the degree of health care security American’s have.   Former President George W. Bush did not favor requiring all Americans to purchase health insurance.  He did favor, and at his urging, Congress did pass legislation setting up Health Savings Accounts in 2003.  In 2008, an individual could contribute up to $2,400 per year to such an account ($5,800 for a family).  The gains from this investment are not taxed and the money could be withdrawn to pay the deductable under a health insurance policy.  This is a tax free method of investing for those fortunate enough to have the money to participate.  Not surprisingly, those most likely to contribute to Health Savings Accounts are much richer than average (Edwin Park, “GAO Again Confirms Health Savings Accounts Primarily Benefit High-Income Individuals,” Center for Budget and Policy Priorities, May 19, 2008 – available at www.cbpp.org).  How would a family of four persons living in the Los Angeles area on $40,000 per year have the left over income (i.e., after paying rent/mortgage, food, clothing, etc.) to put in a Health Savings Account?  They wouldn’t!    


Suppose you need a heart operation and your insurance only pays for expenses above $25,000.  If you had saved the maximum allowed per year for ten years in a Health Savings Account, you could pay the entire deductable (i.e., $25,000) from this account.  If you felt you would be healthy, this could be a good gamble.  If you don’t think you’ll need the insurance (i.e., remain healthy), buy a less expensive health insurance policy (i.e., one with a high deductable).  


Now, look at the relationships between wealth/education and health: (1) more well-educated and higher-income individuals are more likely to value delayed gratification – i.e., foregoing something today for a greater future gain - in this case, eating healthier food, maintaining a healthier weight, not smoking, etc. than less well-educated and lower-income individuals; thus, (2) more well-educated and higher-income individuals are less likely to need medical attention than less well-educated and lower-income individuals; and (3) more well-educated and higher-income individuals are more likely to contribute to Health Savings Accounts than less well-educated and lower-income individuals.  By not requiring people to buy insurance and by allowing people to put money into Health Savings Accounts, higher-income people, who are typically more healthy, are able to remove money that would’ve gone into an insurance pool from which the unhealthy could benefit.   Thus, the practical effect of Health Savings Accounts is to reduce the ability to spread medical costs over a larger, healthier, population.  Withdrawing money that a healthier population would have put into an insurance pool and, instead, placing it in the hands of higher-income households means that the costs of health insurance to the less healthy population, disproportionately drawn from middle and low-income households, will increase.   All of this works to the advantage of higher- income individuals.  


The Ownership Society proposal for education (another tax-free savings plan) has a similar effect to the Health Savings Accounts.  Here’s why: (1) higher-income individuals are much more likely to have the necessary money to put into such an account; (2) citizens are more likely to vote in favor of increased taxes for education when they have children in the public education system; and (3) the money from an Educational Savings Account will either more allow students to afford a private college and/or reduce their need for more funding for state run colleges.  For example, the money from the account means they are less likely to need financial aid than other students.  Points 1-3 mean that the educational “gap” between students from lower and higher-income households will increase.  


This is similar to the effect that government vouchers (e.g., a government check for $1,000 per child) for K-12 schools typically have: (1) the vouchers don’t cover the entire cost of education; so, (2) the household must put money together with the voucher in order to afford a private school; (3) higher income households are better able to pay these costs; (4) more children from higher-income households are placed in private schools; (5) this reduces the willingness of higher-income households to vote in favor of school bonds for public schools; therefore, (6)  the educational “gap” between children from low-income and high-income households increases.  


One of the reasons I stress the importance of a candidate’s political party affiliation is that it is, typically, a relatively accurate predictor of a candidate’s issue positions.  George W. Bush is no longer president.  Today, the Republican Party does not use the term “Ownership Society.”  However, the proposals of the intellectual leaders of the party, such as Congressman Paul Ryan of Wisconsin, are virtually identical to what I have previously outlined.  I’ll mention Congressman Ryan’s proposals because they have been at the center of newspaper and television commentary on what the Republican Party’s economic policy proposals will be.  


Congressman Ryan calls his plan, “The Roadmap for America’s Future.”  His plan would: (1) cut federal taxes of the richest 1% of households by 50% (i.e., in half – this is in addition to the tax cuts this group would receive by making the Bush Tax Cuts permanent); (2) replace some of the lost revenue from the tax cuts for the richest 1% of households with a much more regressive consumption tax on most goods and services (i.e., paid much more by middle and low-income households – families with incomes between $50,000 and $75,000 would face a tax increase of around $900 per year); (3) freeze discretionary domestic spending (keep in mind that, that after adjusting for inflation and population growth, this would mean a 25% reduction over 10 years in such items as public transportation, etc.);  privatize Social Security (i.e., individual accounts) and; (5) replace Medicare for senior citizens with a voucher (i.e., an amount of money to buy health insurance).  Since the Ryan plan doesn’t require all citizens to buy health insurance and includes Health Savings Accounts, health care costs will increase (see previous discussion).  These increases would occur at the same time that Ryan wants to reduce Medicare spending.  Thus, senior citizens would have much poorer health care under the Ryan plan than currently.  


As Paul N. Van de Water notes, “The Ryan plan proposes large cuts in Social Security benefits — roughly 16 percent for the average new retiree in 2050 and 28 percent in 2080 from price indexing alone — and initially diverts most of these savings to help fund private accounts rather than to restore Social Security solvency.”   This is very similar to former President George W. Bush’s proposal for Social Security.  Unlike Bush’s Social Security Proposal, the Ryan Plan protects those whose investments result in less income than under the traditional Social Security program.  Ryan’s guarantee would encourage seniors to make more risky investments.  Why not gamble on an investment with large possible gain (but also large possible loss) when the federal government insures you against loss?


While the Ryan Plan does include a protection for senior citizen’s whose investments yielded a return lower than what they would have received under traditional Social Security, it is extremely unlikely that this guarantee would be paid in full.  Here’s why: Ryan would use government revenues to replace the lost income to senior citizens whose investments performed poorly.  The cost of this guarantee would be very high. Given the reductions in other programs that would be required to fully fund this guarantee (e.g., in defense, education, environmental protection, etc.) it would be extremely unlikely to be fully realized.  My principle sources for the discussion of  Congressman Ryan’s “Roadmap for America’s Future” are:  “The Ryan Budget’s Radical Priorities: Provides Largest Tax Cuts in History for the Wealthy, Raises Middle Class Taxes, Ends Guaranteed Medicare, Privatizes Social Security, Erodes Health Care,” Paul N. Van de Water, Center for Budget and Policy Priorities, July 7, 2010 – available at www.cbpp.org  and Paul Krugman, The Flimflam Man, New York Times, August 5, 2010.  


A couple points about Social Security are worth mentioning.  First, Social Security is an insurance plan to keep the elderly and disabled from living in poverty.  It is NOT a savings plan that should evaluated on how much a person’s investment grows.  Thus, unlike a savings plan, benefits are NOT necessarily related to the contribution you make.  In order to keep a large segment of the elderly and disabled from falling into poverty, the program has to payout greater benefits relative to the amount contributed for lower income earners.  This is why it is not correct to compare Social Security benefits to some hypothetical retirement plan.  Relatedly, this IS why Social Securities’ benefits are guaranteed.  Thus, unlike 401k plans, Social Security provides a guaranteed level of benefits rather than have benefits tied to the performance of an investment (e.g., the stock market).  Second, relative to the size of the economy and a person’s income, Social Security is less generous than similar programs in Europe.  For 67% of the current retired population, Social Security provides over-half of their income.  For more than one-third of the current retired population, Social Security provides 90% of their income (Los Angeles Times, Sept. 18, 2011, page B10).  As current trends show that a smaller percentage of workers today have retirement plans through their employer and a smaller percentage of these plans provide a guaranteed benefit, future generations are likely to be more dependent on Social Security than current retirees (Jacob Hacker, The Great Risk Shift, Oxford University Press).   Thus, rather than reducing Social Security benefits and/or raising the retirement age, an excellent argument can be made for increasing the amount of money Social Security pays to recipients.  Third, while in roughly 25 years Social Security will only be able to pay approximately 77% of the scheduled benefits (77% of future benefits should be as large as 100% of current benefits for most  – i.e., 77% is not necessarily a “cut”), this situation is easily correctable.  To put this deficit in perspective, if we either devoted .8 of 1% more of our economy to Social Security (e.g., applying the Social Security tax to all income and not just that portion under $107,000 – we’ve raised the income subject to Social Security taxes 43 times in the past) or cancelled the Bush Tax Cuts for those making $250,000 and above, Social Security would be entirely solvent for the next 75 years (i.e., longer than most of you reading this will be alive – see Policy Basics: Top Ten Facts about Social Security, Center for Budget and Policy Priorities, www.cbpp.com).   Fourth, as most political scientists who study government social welfare policies in the United States, Canada and Europe will agree, one of the most important “keys” to keeping Social Security strong is to retain it’s universal coverage (i.e., everyone receives benefits).  This is why those whose philosophy is against governmental social insurance programs (i.e., Social Security, health care, etc.) typically argue to reduce or eliminate the benefits Social Security pays to upper-income earners (i.e., “means testing” – those “of means” don’t receive benefits): politically it is easier to reduce spending for a program which is perceived as a “welfare” program (i.e., benefits only the poor) than for a program in which everyone  benefits (e.g., see Jonas Pontusson, Inequality and Prosperity: Social Europe vs. Liberal America, Cornell University Press).   

In 2011, the Republican controlled House of Representatives passed Congressman Ryan’s updated version of the “Roadmap for America’s Future” called the “Path to Prosperity.”  While the “Path to Prosperity” omitted altering Social Security, it did the following: (1) retained all of the Bush Tax Cuts (including those for households earning over $250,000 per year); (2) further reduced the top income tax rate to 25%; (3) converted Medicare into a voucher system with the increase in the voucher limited to the overall rate of inflation (i.e., not to the rate of medical inflation which is much higher – had this plan been in effect the previous 10 years, senior citizens would have had approximately 30% less money for health care); and (4) converted Medicaid (for low income households) into a block grant program for states (i.e., a state gets a fixed total of money from the federal government that is not necessarily based on the number of recipients or the change in the cost of medical care).   This makes it far easier to reduce funding for Medicaid in the future. 


Looking at the 2012 Republican presidential candidate economic plans we see a group coalescing around former Minnesota Republican Governor Tim Pawlenty’s proposal to reduce federal government spending to 18.5% of the economy (that’s the lowest figure since 1966) and lower the top income tax rate paid by the highest income Americans to 25% (lower than at any time since 1931).    Over ten years Pawlenty’s tax proposal would reduce federal revenue by about 11.6 trillion dollars (about twice as much as the previously discussed Bush Tax Cuts).   With that much less revenue, how could the government increase mass transit, provide health insurance to the many workers who are losing their coverage, provide income support to the millions of workers whose incomes are not keeping pace with the cost of living or even maintain current level spending on research and development or education?  Simply put, it couldn’t!!  To emphasize how unified the Republican presidential candidates are around this type of proposal, a top level advisor to Republican presidential candidate Mitt Romney made the following statement: “The exchange (in a debate among Republican presidential candidates) over the Pawlenty economic plan was very telling; there was no disagreement on the principles.”  (Los Angeles Times, June 17, 2011, page 31 – Ronald Brownstein’s column)   


The Ryan and Pawlenty plans are very similar to the previously discussed “Ownership Society.”  It’s the same philosophy.   Depending upon your values, you could either favor, or oppose, programs such as “The Ownership Society” or Congressman Ryan’s, “Roadmap for America’s Future” and “Path to Prosperity.”   However, the outcomes under both plans are not disputable: they both significantly reduce economic security and increase economic inequality.   Regardless of whether one agrees or disagrees with the philosophy of the Republican party, the following conclusion is inescapable: the Republican proposals would make what is already, by far, the weakest social safety net of any wealthy democracy in the world much weaker still while simultaneously increasing the degree of after-tax income inequality in what is already the most economically unequal wealthy democracy in the world.  


It is interesting to note that, over time, income is less stable.  Thus, an income earner is less likely to have as secure, or stable, an income as they did 40 years ago (Jacob Hacker, The Great Risk Shift).  Additionally, the private sector is providing fewer social guarantees that it did a decade, or more, ago.  Today, fewer jobs come with health insurance and guaranteed retirement income.  Thus, personal economic “risk” is greater.   Which of the following seems more appropriate: as personal economic risk increases, you need the government less; or, as personal economic risk increases, you need the government more.   The two parties differ widely.  The Republican Party approach (i.e., “The Ownership Society” and “The Roadmap for America’s Future”) is to load increased personal economic risk back on the individual (i.e., less governmental guarantees – giving senior citizens a voucher rather guaranteed Medicare – same with health care for the poor; reducing taxes on high income earners that can be applied to public services for middle and low-income earners) while the Democratic Party approach is more in favor of using the government to offset increased personal financial (e.g., the Obama Health Care Plan – making health care more affordable for middle and low-income earners, increases the Pell Grant program for low-income college students, reducing the Bush Tax Cuts, increasing government deficit spending and increasing regulation of financial markets).  


If your preference is to try to help those in middle and low-income circumstances, here are some tax changes that would provide the money for policies (discussed later) that would further your goals.  First, allow the Bush Tax Cuts to expire.  As mentioned previously, they are heavily tilted to high income groups.  Additionally, allowing the Bush Tax Cuts to simply expire would cut the federal deficit by more than half.  Second, adopt a wealth tax.  In 2008, France, Norway, Switzerland and five other wealthy democracies adopted this tax.  As mentioned previously, the average growth rate of these economies is similar to our own.  Just a 2% annual wealth tax on households owning more than $7.2 million in assets (the richest ½ of 1% of households) would bring in at least $70 billion dollars per year (this is a conservative estimate – see Bruce Ackerman and Anned Alstott, “Tax the Wealth,” Los Angeles Times, Sept. 20, 2011, p. A11).  Not only would this help reduce the deficit and/or fund programs that could increase both the economic opportunity and security of those with middle and low incomes, it would also address the “debilitating cycle” discussed previously.  Income inequality in the U.S. today is far greater than in Europe and approaching the level of many unstable democracies in Latin America.    

Deciding on the aforementioned approaches to solving our problems are the decisions you really make at the ballot box.  This is why I mention to you so often that the person who votes the candidate and not the party is much more likely to cast a vote in favor of policies they oppose than a voter who understands the policy differences between the parties, chooses the party that is closer to their views, and, votes for the candidates of that party.   

Public Policy Options for California


I’m going to close this discussion by looking at taxing and spending by the state of California.  Since taxes are fundamental to the operation of the government, I will start there.  Although the emphasis is California, let’s start the discussion of taxes by looking at federal taxes.  Tax rates are NOT highly progressive in the United States.  The rich pay a higher percentage of their income in taxes than the poor, but not greatly so.  All federal taxes together (i.e., income taxes, Social Security taxes, etc.) take approximately 9.4% of the income of households making  $16,000 per year, approximately 20.5% of the income of households making $52,000, approximately 27.2% of the income of households making $200,000 per year and approximately 34% of households making $18,000,000 per year. (Thomas Piketty and Emmanuel Saez, “How Progressive is the U.S. Federal Tax System,” Journal of Economic Perspectives, Winter, 2007, available at: http://elsa.berkeley.edu/~saez/).  It is very important to mention that federal taxes have been made much less progressive over time.  To demonstrate the impact of reduced federal tax progressivity consider the following: “In 2000, the richest 1 household in 1,000 (i.e., .1 of 1%) had about 7.3% of total national after-tax income.  If the effect of taxes on their income had remained what it was in 1970, they would have had about 4.5% of after-tax national income (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, page 49).  This would be a reduction of approximately 38% in their after-tax income (7.3% - 4.5% = 2.8 - 2.8 is approximately 38% of 7.3).  This decrease in federal tax progressivity was prior to the Bush Tax Cuts (which, as previously discussed, overwhelmingly benefit households with very high incomes).      


State and local taxes are even less progressive than federal taxes. Thus, if you add state and local taxes to federal taxes (i.e., to obtain “total taxes”) the tax burden is less favorable to the poor (i.e., less progressive) than for federal taxes alone.  State and Local Taxes are a greater percentage of personal income for the poorest 20% of a state’s households than for the wealthiest 1% of a state’s households in virtually every state (all but one).  In California state and local taxes take approximately 11.3% of the income of the poorest 20% of households while taking only 7.2% of the income of the richest 1% of households. (Citizens for Tax Justice)


Some argue that income taxes fall much too heavily on the wealthy.  For example, in California, the wealthiest 10% of the taxpayers pay approximately 75% of the state income tax. While true, this argument is misleading for two reasons: (1) the most important consideration is taxes as a percentage of income and not the percentage of a tax borne by a particular income group – thus, if California’s state income tax was only to raise $1 and Steven Spielberg paid that $1 he would have borne 100% of the state income tax burden – however, $1 would be virtually 0% of his income – thus it’s the percentage of income paid in a tax and not the percentage of a tax that a particular income group pays that is the important consideration; (2) this calculation excludes all taxes except the income tax (e.g., state sales taxes, property taxes, etc.) – when we include all state and local taxes and fees, the percentages mentioned above and the conclusion – that state and local taxes are a higher percentage of income for the very poor than the very rich – is correct.


As a percentage of income, state and local taxes in California are slightly higher than average but California should not be considered a high state and local tax state.  Federal, state, and local taxes combined are approximately 32% of state income - which is typically about the 9th highest burden in the nation.  However, much of this is because California has a higher average family income than most states and, as a result, a higher federal income tax burden.  As a share of personal income, California typically ranks about 18th (out of 50 states) in state and local tax burden with state and local revenues equal to approximately 17% of personal income. 


In political campaigns state spending is often an important topic.

One often hears candidates for state office talking about “runaway” state spending.   To examine this possibility we need to see how state spending changes in relationship to population growth and inflation.  For example, if the population of California doubled, wouldn’t the state have to spend twice as much money just to provide the same level of service?  Yes!  If this happened, one could say that state spending increased by 100%.  It sounds like a great increase, but it would only provide the same level of service as before the population doubled.   


Adjusting for inflation is also important.  If inflation causes the cost of living to increase by 3%, it would mean that in order to provide the same level of service, the state of California would have to spend 103% of what it previously spent.   Adjusting for population growth and inflation, to maintain the same level of service in 2009 that the state of California provided in 1999 state spending would have had to increase by 53%.  Over the 1999-2009 period spending by the State of California only increased by 29% (source: Center for the Continuing Study of the California Economy, June, 2009).  Thus, state spending in California has not kept pace with the growth in California’s population and the cost of living.  Additionally, in 1980 California General Fund Expenditures (i.e., state spending) was 7.4% of personal income. For 2009-2010, this figure had dropped to only 5.5% (i.e., state spending is a much smaller percentage of the income of Californians today than it was in 1980).   That’s not  “runaway” state spending!  


Another way of looking at the question of state spending is to take account of both need (i.e., what type of population we have) and state wealth (i.e., our “ability to pay”).  By such a measure, California ranked 37th out of the 50 states (Kendra A. Hovey and Harold A. Hovey. State Fact Finder, Congressional Quarterly Press, 1999).  This study was done just prior to the 1999-2009 period when California’s spending did not keep pace with both population increases and inflation.  In other words, California would probably rank lower today.  That does not seem like “runaway” spending.


California has a very large budget deficit: about 20 billion dollars annually – which is greater than 20% of general fund spending.  Unless we want to forego many services that Californians have typically desired (e.g., our system of public beaches, parks, low cost college education, using the Department of Motor Vehicles 5 days per week, etc.), we need to look at additional sources of revenue.  If we have the political will (which hasn’t been demonstrated so far), there is much additional revenue the state of California could collect.  Much of this revenue would have little, if any, demonstrable economic effect.  Some of it would actually improve the functioning of our economy.  


Let’s start by examining California’s sales tax.  Currently, our state sales tax does not apply to either the internet or services (e.g., amusement parks – Disneyland, using a tax preparer, etc.).  From a purely “economic” standpoint, this makes no sense.  By not taxing the internet and services/amusement parks, tax policy discriminates against those sources of business that are subject to the sales tax (e.g., “bricks and mortar” stores).   While taxing environmentally harmful products can be good public policy, what goal is served by making Disneyland or buying a product online more attractive relative to buying a television set from a local store?  None that I can think of!  Extending the sales tax to the internet and services would yield about 4 billion dollars annually (i.e., about 20% of the size of the budget deficit – “Tax Policy for the 21st Century: Resolving California’s Long-Term Structural Deficit,” California Tax Reform Association, 2005).   


Permitting reevaluation of business (i.e., non-residential) property values would bring in an additional 4 billion dollars annually (“Tax Policy for the 21st Century: Resolving California’s Long-Term Structural Deficit,” California Tax Reform Association, 2005).  As with the sales tax, current policy is not economically defensible.  The current policy only allows business property to be revalued when it changes ownership. Thus, long-held business property is taxed less than a new business purchasing similar property.  This gives older businesses a significant financial advantage over newer businesses.  Economic decisions are suppose to be based upon economic criteria (e.g., consumer taste, price, quality, service, etc.), not who held a property longer. 


A third tax policy change, which is desirable from both an environmental and revenue enhancement basis, is a carbon/pollution tax.   From an economic standpoint, the cost of pollution should be taxed to provide the appropriate disincentives to reduce pollution.  Currently, California is the only oil producing state that does not have a severance tax on oil.  A carbon/pollution tax (including a severance tax on oil) would bring in approximately 4 billion dollars annually (“Tax Policy for the 21st Century: Resolving California’s Long-Term Structural Deficit,” California Tax Reform Association, 2005).  Thus, these three tax changes, which are all defensible on non-revenue raising grounds, would close about 60% of the current budget shortfall.  Since the estimates I’ve used are several years old, there is every reason to think that they understate the revenue gains.  There are other very defensible tax changes that would almost close the entire budget deficit (e.g., allowing residential property to be revalued at other times than when it is sold and returning business taxes to the level they were in the 1990s).   Before we assume that only spending reductions are a desirable method of balancing California’s budget, let’s not forget some very defensible revenue enhancements.   


Critics of government regulation and taxation invariably argue that California has a poor business climate.  The “facts” suggest otherwise.   In 2000, California captured 42% of the nation’s venture capital funding.  By 2010, this figure was approximately 50%.  Since California represents only about 20% of the nation’s economy, this is a very high figure.  Moreover, from 1999-2009, California’s economy grew at a faster pace than the nation as a whole (California - 27.2%; U.S. as a whole – 20.2%).   Furthermore, job losses due to business relocation (i.e., businesses leaving California) accounted for only 1.7% of job losses in California.  This is less than the national average of 2.0%.  


One factor that would greatly help California’s business climate is a more highly educated workforce.   To meet employment needs, the percentage of California’s workforce with at least a bachelor’s degree needs to roughly double over the next 15 years (from approximately 21% to approximately 41%).  Tax cuts that result in reduced funding for higher education will not help us meet this critical need.  


A final point, California does NOT have a “big bureaucracy.”  State and local employees constitute a SMALLER share of California’s population than in approximately 45 of the 50 states.  That’s not “big government”!
Why Not Policies that Would More Help Middle and Low-Income Households?


From the preceding discussion it is clear that most of the income gains over the past several decades have gone to very high income households with little gain for most of the rest of U.S. households.   Additionally, for middle- income earners “real hourly compensation per hour” (i.e., dollars per hour worked after adjusting for taxes and inflation) is basically unchanged over the past 35 years.  Furthermore, companies are providing less generous fringe benefits (e.g., health care and pensions).  Given all of this, a reasonable question might be:  How come we keep getting policies most benefitting the very wealthy?  Given that politicians are elected by voters, most of whom would have a strong self-interest in more progressive taxation (i.e., the rich paying a greater share of the tax burden), more public services (e.g., government provided health care, better public transportation, a more generous Social Security system,  government subsidies to low-wage workers salaries, etc.), why aren’t we getting such policies?   Instead, it seems that as the wealthier get an increasing share of the national income, we adopt policies that will either help them get an even larger share of national income, or at least do not redistribute much income to middle and low-income groups.  


This is a critically important topic.  In order to address it, we need to start back with the strong commitment America has to absolutist individualism (i.e., to make the individual as reliant upon themselves as is practically possible).  Almost by definition, this value system means that there will not be a large role for government either in redistributing income or providing services.  Thus, it means that, relative to other wealthy nations that have a less strong commitment to absolutist individualism (e.g., Western Europe, Canada, Japan, Australia and New Zealand), American governments will do less to protect their citizens from the economic hazards of life.  For example, while the Democratic Party will provide greater governmental protection from economic hazard than will the Republican Party, the Democratic Party is not, in an “international sense,” a liberal party.  If we put the Democratic Party in Great Britain, France or Canada, it would be a centrist party, not a “left/liberal” party.    


In addition to the overall conservatism of the electoral choices we have (i.e., between a centrist Democratic Party and a conservative Republican Party), absolutist individualism also has an important impact on the political system  victorious candidates operate within.  As you remember from the readings/discussions earlier in the semester, our government structure makes it difficult for the government to act.  For example, we have the separation of executive and legislative power.  So, a president could veto an act of Congress.  This doesn’t happen in Canada and most all of Western Europe because, desiring a more activist government, they use a parliamentary system.  In a parliamentary system the prime minister (i.e., the corollary to our “president”) is selected by the ruling party in the legislature.  Thus, the executive and the legislature won’t be opposed to each other.  Therefore, in a parliamentary system you could not have a Democratic President and a Republican Congress.   If this weren’t enough to make it difficult for the government to act, in the U.S. Senate, 41% (i.e., a minority) can block the action of a majority.  As is often noted, our political system is much more geared to stopping action than taking action.  All of this makes it much more difficult for the federal government to take action.  


While both our strong commitment to absolutist individualism and the framework of our political system (e.g., the separation of powers), make it difficult for the government to pass laws, there are important changes in the balance of domestic political power that have taken place over the past 35 years that make it even more difficult for the federal government to act on behalf of the interests of middle and low-income citizens. In a “nutshell,” here’s what happened: (1) after suffering a large number of political defeats through the 1960s under both political parties, during the mid-1970s business groups (the U.S. Chamber of Commerce, the National of Manufacturers, the National Federation of Independent Business, etc.) decided to invest tremendous amounts of money both in lobbying members of Congress and contributing to political campaigns; (2) the relative strength of the counter-weight to business, labor unions, declined precipitously (in 1954 – 32% of the workforce was unionized - today only 13%), and with it a tremendous loss in both political information supplied to middle and low- income households and political participation by these citizens (i.e., unions contacting their membership with information on political issues, the membership then contacting elected officials); (3) the interest groups that have formed on the political left have dealt more with the concerns/interests of well-educated higher income voters rather than the working class (i.e., environmentalism, women’s rights and gay rights do not deal with the distribution of the tax burden, subsidies for low-wage workers or extending governmental provided health care); (4) due to both increased population and the rise of television, the cost of campaigning for public office greatly increased; and, (5) the increasing share of income going to very high income groups meant that politicians became much more dependent upon the very rich, a group which far more conservative on economic issues than the average American (see previous discussion of the opinions of the wealthiest 1/10th of 1%), for campaign funds.  For all these reasons the political position of business has become much more advantaged relative to labor (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, pp. 116-123).   


As a result of their greatly increased political strength, business political action resulted in the election of more Republicans (who are philosophically compatible with the desire of business to reduce the progressivity of the tax structure, reduce government regulation of business and reduce the size of many government domestic political programs).  Where the political conditions meant that Democrats were likely to be elected (e.g., Obama in 2008), the increased political strength of business and the resulting increased costs of campaigns meant that Democratic candidates would now have to depend on business for a greater share of their financing.  The “price” of this would be that once elected, Democrats could not pursue policies that were as strongly opposed by business  as when Democrats were less dependent upon business for their campaign contributions.  Furthermore, as the wealthy received a greater share of the income, this meant that a greater percentage of campaign dollars would come from the wealthy.  Again, this made it more difficult for Democrats to pursue policies that would either redistribute the wealth and/or regulate business.  Put another way, all of these factors pulled both political parties in a more economically conservative direction and reduced the redistributive capability of the Democratic Party.  This isn’t the “entire story,” but it certainly is “the big picture” of it. 


Think of the political consequences of policy philosophies such as The Bush Tax Cuts, The Ownership Society, The Roadmap for America’s Future and The Path to Prosperity.  All of these policies accomplish three goals of many (but not all) conservative leaders: (1) they shift the distribution of the tax burden away from taxing investments (i.e., money made with money – income sources primarily of very high-income households) toward higher taxes on labor (i.e., taxes more paid by income from wages and salaries – the principle sources of income for the poorest 90%, or more, of households - by relying on consumption taxes); (2) reduce the amount of money redistributed to middle and low-income groups through public programs (e.g., mass transit, job retraining, guarantees for Social Security, Medicare, etc.); and (3) increase the size of the federal deficit to the point that future Democratic Administrations will have difficulty in undertaking programs primarily benefitting middle and low-income households (e.g., notice how difficult it is for Obama to get the necessary funding to implement his health care plan due to the size of the federal deficit – greatly swelled by the Bush Tax Cuts).   


The political consequences of the above mentioned policies significantly reduce the incentive for low and middle-income people to participate in the political process (e.g., vote) because they will perceive that government is not that helpful to them (i.e., their taxes will increase and the value of their government benefits will decrease).  So, why invest time and effort in politics?  This protects high-income households from future adverse political events.  Thus, if increasing income inequality might cause low and middle-income people to desire income redistribution, make it difficult for the government to accomplish this and reduce the incentives for low and middle-income people to get involved in the political process.  The goals and methods of many important conservative leaders (through their own statements) are well documented (see Larry Bartels, Unequal Democracy; Michael J. Graetz and Ian Shapiro, Death by a Thousand Cuts; Jacob Hacker and Paul Pierson,  Off Center; and Benjamin I. Page and Lawrence R. Jacobs, Class War?)    


What could we do?  The basic answer is to undo the changes of the past 40 years and adopt a social welfare system similar to the other wealthy democracies of the world.  While any proposed “reforms” would spark opposition from those who do well under the current system, I’ll mention two possible changes that would greatly alter the political landscape in a direction much more favorable to middle and low-income groups.  First, make it easier for workers to unionize.  Canada offers a compelling lesson.  According to the survey evidence, American workers are as favorable to unionization as Canadian workers (Jacob Hacker and Paul Pierson, Winner-Take-All Politics, p. 58).  However, over the past 50 years, the gap between the percentage of the Canadian workforce that is unionized and the percentage of the U.S. workforce that is unionized has steadily increased (Canada: 1960 - 32%, 2000 – 32%|U.S.: 1960 - 31%, 2000 – 13%).  Without a lengthy discussion, the differences over time are mostly attributable to differences in public policies governing the unionization process.  Not surprisingly, this was one of the earliest results of increased business political strength: make it more difficult for workers to unionize.   Notice that unified Republican control in Wisconsin and Ohio (i.e., where the Republican Party controls the governorship and both houses of the state legislature) has not only opposed making it easier to unionize but rather has made it virtually impossible for public sector workers to effectively unionize. 


The second change would be to enact Yale Law Professor Bruce Ackerman’s proposal for campaign financing, called “Patriot Dollars”:  have the federal government give each voter an ATM valued at $50 for each federal election cycle (i.e., every two years).  This money could only be used for campaign contributions (i.e., all unused money would be returned to the federal government – “yes” it could be done – the technology to ensure this does exist).  A voter could give their contribution to one, or a series, of candidates (Matthew Miller, The 2% Solution, pp. 172-180).   By not limiting how much individuals, businesses or unions contribute, this policy would not be invalidated by the Supreme Court.   The Supreme Court has ruled that restricting how much an individual, or group, can contribute violates their free speech (i.e., money equals speech).  Since Professor Ackerman’s proposal does not limit speech, it is constitutional.  By greatly increasing the amount of campaign money available, Professor Ackerman’s proposed policy would reduce the tremendous monetary advantage of both business and the wealthy.  


If the United States adopted the two aforementioned changes (easier unionization and the governmentally provided $50 per voter campaign contribution) it would change the political landscape in a manner that would significantly increase the chances that policies similar to those discussed immediately ahead would be adopted.  Such policies would provide a much greater standard of living, and security, to those in middle and low-income circumstances.  


If the goal is to reduce income inequality and increase income security while keeping a commensurate level of economic growth, the most important fundamental change is to realize that a more activist government will be necessary.   If present economic trends continue (i.e., greater personal economic risk and less personal economic security – small increases in hourly wages for most middle and low-income workers, reduced employer provided health care and less generous and secure private sector retirement benefits), the obvious “solution” is to have the federal government provide the benefits that the private sector use to provide.  This means having the federal government supplement wages (i.e., to provide cash payments to those who work but earn little), provide a health care benefits package to all citizens similar to Canada and Western Europe, provide child care/day care to working mothers and increase the amount of money Social Security provides to retirees.  

In studies that compare the poverty rates of various nations, the consensus among scholars is that poverty is best thought of as a relative concept.   Put another way, poverty is really a type of economic/social exclusion.  The impoverished person is, at least economically, excluded from participating in much of what the society they are a member of has to offer.  In contemporary America (as well as in Canada and Europe), a person without access to a computer could reasonably be considered “impoverished.”   Lack of access to a computer might not prove fatal, but it would greatly limit their economic, social and cultural opportunities.   

The median is a positional measure that divides a group into two equal parts.  For example, if you rank-order 101 households from richest to poorest the median income would be the income of the 51st household (i.e., 50 households would have a higher income and 50 households would have a lower income).   In poverty research the generally accepted standard is that a household is “impoverished” if it does not have an income equal to at least 50% of the median household income in that nation at that time (David Brady, Rich Democracies, Poor People, Oxford University Press, pp. 23-44).    


One of the primary difficulties the United States faces in confronting this situation “head on” is the following core set of beliefs about poverty: (1) poverty is the fault of the victim; (2) economic growth will greatly reduce poverty; (3) government intervention will increase poverty.  Each of these beliefs, at best, is  “suspect. ” For example, while it is true that single-mother households are much more likely to be impoverished than two-parent households and that U.S. has the highest rate of single-mother households among the wealthy democracies, even if every single-mother household in the U.S. were not poor, the poverty rate in the U.S. would still be much higher than in most wealthy democracies.  Similarly, variation in educational attainment (e.g., in some wealthy democracies a higher percentage of adults have graduated from college than in other wealthy democracies) does not explain much of the variation in poverty rates among the wealthy democracies.  Thus, while the well-educated typically have higher 
incomes than the less-well educated, this is not a fundamental reason while some wealthy democracies have much lower poverty rates than other wealthy democracies.  Furthermore, when economic growth in the U.S. has been higher than in the bulk of wealthy democracies, the U.S. poverty rate has been substantially higher than in the overwhelming majority of other wealthy democracies.   Greater economic growth does reduce the poverty rate in the U.S.  However, what this means is that the U.S. poverty rate (typically around 17% of households with Great Britain and Canada around 12%, and the Scandinavian countries – Norway, Sweden and Denmark – around 6.5%) fluctuates around a much higher average than in other wealthy democracies and even at it’s lowest level, is much higher than most all other wealthy democracies (David Brady, Rich Democracies, Poor People, Oxford University Press, pages 52-56).   Fundamentally, a nation’s poverty rate is much more the result of political choices (i.e., what policies it enacts) rather than the attributes of it’s population (e.g., educational attainment).  Thus, the United States could “choose” to have a much lower poverty rate if we so desire (David Brady, Rich Democracies, Poor People, Oxford University Press).

The preoccupation with the three aforementioned “core” beliefs about poverty has distracted us from the “big picture”: the main reason that the U.S. has a much higher poverty rate than the vast bulk of wealthy democracies is that we don’t spend nearly as much of our economy as do other wealthy democracies on income transfers (i.e., direct cash payments to either the unemployed, the working poor and the elderly) and do not provide universal health care and childcare.

I am going to close this section by outlining several policies that would greatly reduce the poverty rate in the United States, increase the growth of our economy and revitalize our democracy.  Some years ago Nobel Prize winning economist Edmund Phelps proposed a government employment subsidy for full-time private sector workers.  The following is similar, but a bit more generous than Phelp’s original plan (Matthew Miller, The 2% Solution, pp. 162-171).  Assuming a minimum wage of $8 per hour, here’s how such a plan might operate: a worker earning the minimum wage of $8 per hour would receive a $4 per hour subsidy from the federal government (i.e., their “total wage” would be $12 per hour - $8 per hour from their employer plus $4 per hour from the federal government = $12 per hour) with the subsidy decreasing by 10% for each additional dollar per hour they earned.   For example, if a worker received a pay raise from $8 per hour to $9 per hour their federal wage subsidy would be reduced from $4 per hour to $3.60 (i.e., $4 reduced by 10% is $3.60 or, alternatively, $3.60 is 90% of $4).   Thus, if their wage from employment went from $8 to $9 per hour, this worker would go from a “total wage” of $12 per hour to $12.60 per hour ($9 + $3.60 = $12.60).  For each additional dollar per hour their employer pays them, their “total wage” increases.  Since the value of the subsidy decreases less than the increase the employer pays, there is a strong incentive for an employee to work for a higher wage from their employer.  The subsidy would be entirely eliminated for workers earning $18, or more, per hour.  


Based on Phelp’s original estimate of the cost, a “back-of-the-envelope” estimate would be that this plan, initially, would cost about $150 billion dollars per year beyond what we currently spend through the earned income tax credit.  This estimate is almost certainly “too high” (Matthew Miller, The 2% Solution, pp. 169-170) but I want to err on the side of conservatism.  Furthermore, Phelps estimated that within a few years the entire plan would be self-financing.   The reduced costs of crime (police, court costs, prison costs, etc. - individuals who earn more are less likely to commit crimes), welfare, plus greater tax yields from more profitable businesses (these higher wage workers will have more income to spend which will increase business profits), would likely recoup the entire cost of the plan (Matthew Miller, The 2% Solution, pp. 169-171).  Obviously, we could also extend this plan to part-time workers.      

Particularly as we reduce budgets it is very important to mention the tremendous impact education has on earnings.  In 1975 those with a bachelor’s degree out earned those with a high school diploma by approximately 60%.  By 2008 this differential rose to approximately 100%.  (Jeffrey Sachs, The Price of Civilization, 2011, p. 15)  Unfortunately, the United States ranks 12th in the percentage of 25 to 34 year olds with at least an associate’s degree (i.e., graduation from a community college - Jeffrey Sachs, The Price of Civilization, 2011, p. 20) 


An additional policy change that would be of tremendous benefit to low and middle-income households is universal childcare.  Child care/day care costs are very expensive, especially for low-income families.  In addition to helping children, universal childcare increases the incentive to work.    Let me explain.  For low-income households, much of the income benefit from a low wage job is reduced if the family has to purchase childcare.  By lifting this burden from low income households, the economic “value” of work is significantly increased.  Universal childcare is commonplace among the wealthy democracies of the world.  


I am now going to outline both the costs and financing mechanisms for the policies I’ve mentioned.  At the outset, let me mention just switching from the U.S. health care system to either a Western European or Canadian style health care system would save much more money than would be needed to pay for all of the policies I am discussing (i.e., would provide universal health care, the Patriot Dollar system of campaign finance, Phelp’s wage subsidy program and universal childcare).   Since the U.S. spends about 16% of it’s economy (i.e., GDP) on health care while Canada and Western European nations spend between 8.5% to 11.2% of GDP (“Health Care Spending in the United States and Selected OECD Countries,” http://www.kff.org/insurance/snapshot/OECD042111.cfm) the difference is about 4.8% to 7.5% of GDP.  The total cost of the programs I’m discussing is only about 2.7% of GDP (the programs would cost roughly $400 billion dollars per year which is about 2.7% of the $14.7 trillion U.S. GDP - 2010).   Additionally, switching health care systems would also eliminate all future financial shortfalls for Medicare.  Just changing our health care system to a Canadian/Western European system would not only cover our entire population, but reduce the per person cost of health care by about $2,000-$2,500 per person per year.  If we switched health care systems, taxes would increase, but this would be more than offset by the savings.  For example, if your taxes increase by $100 per month, but your take-home pay increases by $200 per month (due to  less money deducted by your employer for health insurance) or your medical expenses decrease by $200 per month (by reducing the amount you have to pay out of your own pocket for health insurance/expenses), your standard of living would increase by $100 per month.  Having all income subject to Social Security taxes (rather than eliminating the tax for income above $106,800) would keep the system solvent for the next 75 years (Janemarie Mulvey, “Social Security: Raising or Eliminating the Taxable Earnings Base”, Congressional Research Service, September, 2010, p. 2 – see http://aging.senate.gov/crs/ss9.pdf). 

While the case for switching to a Western European or Canadian style health care system is very persuasive (examine the World Health Organization rankings of health care systems and their cost), it is not a politically realistic option.  So, let me briefly outline methods of paying the costs.   First, the annual costs: Phelp’s wage subsidy - $150 billion (remember Phelps estimates that plan would cost nothing – i.e., be entirely self-financing with a few years – but estimating “conservatively” I am assuming the plan brings no savings); universal childcare - $150 billion (this estimate is also likely to be “much too high” – see the discussion in Robert Kuttner, “The Squandering of America’s Assets,” Challenge, January-February, 2008, p. 87); and the Patriot Dollars campaign finance system – $4 billion (Matthew Miller, The 2% Solution, p. 195 – to be conservative I increase Miller’s estimate from $3 to $4 billion).  

Currently, the United States is the only wealthy democracy in the world that does not guarantee health care to all citizens.  While the Patient Protection and Affordable Health Care Act (the Obama health care plan) is not a universal health care program (i.e., not everyone would have medical insurance), it greatly increases the percentage of the U.S. population that are medically insured from approximately 83% (as of 2011) to 93% (by 2014).  As fewer jobs contain health care and increasing health care costs are causing Americans to drop their health insurance, the 10% increase in health care coverage (from 83% to 93% of Americans) understates the impact of the program.  Thus, without the Patient Protection and Affordable Health Care Act in the future fewer than 83% of Americans would have health care insurance.   As previously, I am going to “overstate” the cost of the program.  The Congressional Budget Office estimates that the Patient Protection and Affordable Health Care Act will have an annual cost of $96 billion.  There is good reason to think that the various cost containment features of the legislation will reduce the rate of increase in health care costs.  Thus, without the Patient Protection and Affordable Health Care Act, future health care costs would likely be higher than the will be under this law (for an excellent discussion of both the politics and policy of the Patient Protection and Affordable Health Care Act see Lawrence R. Jacobs and Theda Skocpol, Health Care Reform and American Politics, Oxford University Press, 2010).     

The annual cost of the programs above is $400 billion (Phelp’s wage subsidy - $150 billion, Universal Childcare - $150 billion, Patriot Dollars - $4 billion and the Patient Protection and Affordable Health Care Act - $96 billion).  Together, these programs cost approximately 2.7% of the value of the U.S. economy (i.e., $400 billion is approximately 2.7% of $14.7 trillion – the value of the U.S. economy – GDP – in 2010).   The simplest method of financing these programs is to follow the advice of former Reagan Administration economic advisor/Harvard Economics Professor Martin Feldstein and former Director of the Office of Management and Budget under President Obama Peter Orszag and simply let the Bush Tax Cuts expire.   This would save approximately $368 billion dollars per year (see Paul Van de Water, Chye-Ching Huang, Chuck Marr, Chad Stone and Brian Highsmith, “Supercommittee Should Develop Balanced Package of Tax Increases and Spending Cuts,” September 27, 2011, p. 4 at www.cbpp.org).  To do accomplish this, Congress does not need to do anything.  Unless reenacted, the Bush Tax Cuts will expire on December 31, 2012.  Since the aforementioned programs have an annual cost of $400 billion, and allowing the Bush Tax Cuts to expire would produce $368 billion in additional revenue, we are only $32 billion “short” (i.e., $400 billion - $368 billion = $32 billion).  This remaining $32 billion would be more than paid for by instituting Ackerman and Alstott’s wealth tax. This tax would raise over $70 billion dollars per year in additional revenue (see previous discussion).   

If repealing the Bush Tax Cuts and instituting Ackerman and Alstott’s wealth tax seems “too hard” on the wealthy, consider the following: (1) the wealthy did very well, as did the economy as a whole, under the tax rates that would be in effect if the Bush Tax Cuts were allowed to expire (i.e., economic growth was greater under the higher tax rates of the Clinton Administration than during the Bush Administration); (2) over the 1980-2008 period 98% of the income gains went to the richest 10% of  American households (i.e., exactly those that gained, by far, the most under the Bush Tax Cuts – see http://www.stateofworkingamerica.org/pages/interactive#/?start=1980&end=2008); (3) the share of income going to the richest 1% of American income earners more than doubled between 1970 and 2010 (from about 7% to over 18% of  personal income); and (4) reducing the concentration of income and wealth at the top of the income distribution would likely improve the performance of our democracy by reducing the previously discussed “debilitating cycle” (i.e., where the increasingly concentration of income and wealth among the very rich increases the reliance of politicians on campaign contributions from the very rich which, in turn, leads politicians to enact policies which further advantage the very rich).   Even if all of the above policy and tax changes were adopted, by comparison to the other wealthy democracies of the world the U.S. Social Safety net would still be “weak” and taxes would still be “very low.”  It’s not “big government.”  

There are good reasons to think that the government budget is too small in a democracy.  First, consider the power of advertising.  Isn’t the purpose of the tremendous amount of advertising private companies buy to get you to spend money on their product rather on an alternative use of the same money (e.g., higher taxes to provide government benefits)?  If the private sector didn’t convince the public to spend more money on their products, and less on the government than if they didn’t advertise, private companies would be wasting a large portion of the money they spend on advertising.   

Second, there is ample evidence that the public does not have a good sense of not only the benefits other citizens derive from government programs, but of the value they themselves derive from government programs.  The percentage of people who (a) benefit from various government programs, and (b) claim in response to a government survey that they 'have not used a government social program’ are as follows: Home Mortgage Interest Deduction (a huge benefit for home owners) – 60%, Student Loans – 53.3%, Child and Dependent Tax Credit – 51.7%, Earned Income Tax Credit – 47.1%, Pell Grants – 43.1%, Medicare – 39.8% and Food Stamps – 25.4%.  Since they don’t receive a check in the mail for tax credits, citizens are particularly likely to forget the benefits they receive from tax credits (i.e., that their taxes are lower than they otherwise would be).  Additionally, government social programs are often stigmatized as “welfare.”  But many people benefit from such programs without realizing it.  

Third, many of those who most benefit from government programs vote the least frequently.  As discussed in both class and the readings, lower income citizens disproportionately benefit from government social welfare programs.  Additionally, lower income citizens vote less frequently than middle and upper income citizens.  So, wouldn’t the obvious political incentive be for politicians to provide lower government benefits to the poor than would be provided if the poor voted in proportion to their strength in the population?  Thus, private sector advertising, the lack of knowledge of the benefits of government programs and the lower voter participation of those more likely to benefit from government programs is likely to result in an underprovision of government benefits and a budget which is smaller than it would be if citizens had better information about the benefits government programs provide.  

A person’s political philosophy is likely to their willingness to spend money to reduce income inequality.  If you are political liberal, you probably viewed the programs I mentioned previously (the wage subsidy, universal child care, the Obama Health Care Plan and the Patriot Dollars campaign finance reform) favorably.  However, if you are liberal you have to face the question of how far you would go (i.e., how much of your money would you spend) to reduce income inequality?  If your political philosophy is conservative, your support for such programs is less certain.   If you are politically conservative, a reasonable question to ask is: What are you trying to “conserve”?   On the one hand you could answer that you were trying to conserve freedom and since taxes reduce a person’s freedom to spend their money as they please, then the government should be very small and taxes very low and, hence, you would probably not support the programs I mentioned previously.   Thus, you could say that while income inequality and insecurity in the United States are very high in relation to other wealthy democracies, the government should not reduce freedom in order to reduce income inequality and increase income security.  That’s certainly a philosophically defensible position.  It could be useful, however, to consider the following two questions: (1) Is freedom the only value that matters? (i.e., inequality, poverty, the performance of democracy – think back to the discussion of the “debilitating cycle” - don’t matter much); (2) Does a small government actually deliver the most freedom? Think back to the discussions of whether “net freedom” (i.e., subtracting the losses in freedom from the gains in freedom) would increase if: (1) the State of California sold off public beaches to private citizens and; (2) if taxes were reduced but fewer students could go to college and hence suffer a reduction in career choices later in life.  

A second answer to the question of what you are trying to conserve might be as follows: an America where the benefits of economic growth and technological change are widely shared, such as occurred between the end of World War II (1945) and the early 1970s (i.e., where economic growth was high and the share of income going to very high income groups decreased substantially).   If this is what you are trying to conserve, then the programs previously mentioned could be quite beneficial to your goal.     

In my experience, Americans typically don’t have much information about the policies/degree of inequality and living standards in the other wealthy democracies of the world.   That’s one of the major reasons I wrote this material.  Additionally, there are many stakeholders in our nation (e.g., the very wealthy, financial institutions, business interests such as health insurance and pharmaceutical companies, etc.) who have a strong interest in us not realizing that a greater government role doesn’t necessarily mean either less freedom or economic growth.  

None of this is to say that our current policies are “wrong” or that, in comparison to the other wealthy democracies of the world, the American conservative’s vision of a small government with low taxes, high levels of inequality and a low degree of economic security are “wrong.”  However, if we want to provide greater economic security and reduce income inequality in America, there are very viable options to both our current policies and conservative proposals.

Study Guide #3

Exam #3 has the same structure as the two previous exams.  Remember to assess the lectures and readings in relationship to representation (i.e., How representative are government policies of public opinion?) ,  fairness (How fair are government policies? and freedom ( How do government policies and actions affect the degree of freedom Americans possess?). Knowing the answers to the following questions would be useful!  Does the President typically respond to the Congress’s budget proposal or does the Congress respond to the President’s budget proposal? Do Democratic and Republican congressmen disagree more frequently, or less frequently, today the 30 years ago?  Why?   What does the Medicare case study tell us about how America compares to other economically advanced democracies in terms of guaranteeing economic rights? What does the period after Medicare was adopted tell us about the prospect of removing a right once it is adopted?  Why is it so difficult for the California legislature to adopt a budget?  From the standpoint of both representation and fairness, how defensible is the 2/3rds vote requirement to raise taxes and fees in California?  


The following questions come from pages 11-47 of the coursepack: Relative to the nations we discussed, what is the degree of income inequality in the United States?  During the 1970-2009 period, did income inequality in the United States increase or decrease?  What is the likely impact of former President Bush’s tax cuts on income inequality? Who has a higher standard of living, the very poor in the United States or in Sweden? Relative to the other nations we examined, how much effort does the United States make to reduce income inequality?  Over the nations we examined, what is the relationship between tax rates and economic growth?  How are different income groups affected by unemployment and inflation? How do the political parties differ on handling unemployment and inflation? How do they differ stimulating the economy?  Why?  How good a mechanism are the Bush Tax Cuts for reducing unemployment?  Why is the argument that the rich pay such a high percentage of the income tax misleading?  Why doesn’t a free market provide important social goods?  Why do government run social insurance systems cost less than private market social insurance systems? What is the relationship between your parent’s income and your future income?  What is the “Debilitating Cycle”?  What is the philosophy behind “The Ownership Society” and the “Roadmap for America’s Future”?  How could you argue that a bigger government increases freedom?  How is Social Security different from a 401k plan?  If Social Security is privatized, how would that affect its ability to guarantee income?  If Social Security is “means-tested,” how would that affect the future political support of the program?  How could you argue that a bigger government decreases freedom?  How could you argue that a bigger government increases fairness?  I’m not going to “tell you the answer” to these last three questions. Think through the course materials and formulate your own answer.   How could increases in various California taxes actually help the business climate?  Roughly, how much of California’s budget deficit could be closed by tax increases that have little, or no, negative affect on business?  How does the progressivity of state taxes in California compare to the federal tax system?  Does the State of California suffer from “runaway” state spending? How does the relative size of the workforce of the State of California compare to other states?   What political changes over the past 40 years have reduced the likelihood of the government adopting policies that more benefit low and middle-income households?  What possible policy changes might undo the changes of the past 40 years?  Is the difference in the poverty rates of wealthy democracies more caused by the differences in the attributes of their people (e.g., single-mother households, education, etc.) or more caused by the difference in government policies?  How would the wage subsidy plan work?  In addition to the wage subsidy plan, what other policies are discussed that would improve the fortunes of low and middle-income Americans?  How could it be argued that allowing the Bush Tax Cuts to expire and adopting the “Wealth Tax” are very fair means of paying for the programs that would help low and middle-income Americans?   How could the average American benefit if their taxes increased but the U.S. adopted a Canadian or European style health care system?  Why is the government budget in a democracy likely to be too small?

From the Patterson text it would be helpful to know the following: Do presidents typically have more power in domestic or foreign policy?  Why?  From a president's perspective, what is the problem with policy experts?  How do presidential debates tend to affect voters?  How do members of Congress typically achieve re-election? What is the single best predictor of how a congressman or senator will vote? How strong or weak is the office of president?  Be sure to answer the questions at the end of each chapter of the Patterson text.


From Governing California, 2nd edition by Lawrence Giventer formulate answers to the following questions:  Why have a majority of California voters voted for the last several Democratic presidential nominees?  Among California voters, which groups vote more Democratic and which groups vote more Republican?   What is the fast growing group of voters?   Does the governor have sufficient power to meet his obligations?  What arguments do supporters of term limits make?  What arguments do opponents of term limits make?   How have voter initiatives affected California government? (e.g., adopting a budget)  How does the air quality in California compare to other states?  Is the air quality in California improving? How has the crime rate in California changed over the past several decades?  Roughly, in what percentage of criminal cases does the defendant plead guilty?  How have laws mandating long prison sentences (e.g., 3 Strikes and You’re Out) affected the speed of the judicial process in California?  How do class sizes in California’s public schools compare to other states?   What has been the impact of Proposition 13?  Take a good look at Exhibit 7-3 in the Giventer book.  Roughly what percentage of single adults live under what the California Budget Project considers a “basic budget”?  Both the essay question on Exam #3 and multiple choice and/or short answer questions on both Exam #3 and the Final Exam will be drawn from the previously mentioned questions concerning the Giventer book and class discussion about California politics. 

Final Examination Essay

Since one of the most commonly performed political acts is voting, a major theme of this course has been the choices our political parties offer voters.  Using the definitions given in class for "liberal" and "conservative" political ideologies and the linkage between these ideologies and the Democratic and Republican parties, select a political issue and discuss how accurately or inaccurately the analytic framework developed in this course predicts partisan political differences.     
 


In order to ascertain the division between the Democratic and Republican parties I want you to select an issue that was voted on by either the House of Representatives or the Senate.  The vote you choose can be either recent, or from the distant past.  Since political party differences can only occur where there is controversy, select a vote where at least 20% of those voting voted on the losing side.  For example, supposing you use the House of Representatives and select a vote on which 400 members voted.  In order to be able to use the vote, at least 80 members would have to vote on the losing side (because 80 is 20% of 400).  Thus if the vote is 70 "yes" and 330 "no" the vote was not sufficiently conflictual.  However, had the vote been 80-320, 320-80, or closer (e.g., 100-300, 290-110, 175-225) it would have been acceptable.  It does not matter whether the proposal was passed or defeated.  Since we a***re examining differences between the political parties, you need to know the vote by party (e.g., how many Democrats voted "yes" and how many Democrats voted "no").  Newspapers or magazines rarely give this information.  The source you are required to use is Congressional Quarterly Weekly.  Later you will find instructions for accessing CQ Weekly. 


When examining a vote make sure you do not confuse voting "yes" or "no" with supporting the concept.  Let me explain.  If the legislature is voting on a motion to "table" or "recommit" the legislation, voting "yes" on such a motion is to oppose the actual bill (if the legislature votes to "table" a bill then the bill will not be brought up for consideration and therefore could not be enacted-hence voting "yes" on a motion to "table" the bill has the same effect as voting "no" on the bill itself).   Additionally, the word "strike" means to remove (i.e., take out or delete).   Finally, “substitute” means to replace part of the legislation (e.g., “substitute” 6 months for 3 months). 


You may want to use a vote on an "amendment" to the proposed legislation.   Amendments modify (i.e., change) the legislation.  Much of the most interesting legislative "action" is on amendments.  


This assignment is worth 30 points and is due (typed) at the time of the final examination.  Scores are lowered 10 points per day late (later on the day of the final exam also counts as one day late).  You need to submit a printed copy of the essay at the time of the final examination.  Late or emailed papers lose a substantial number of points (see page 8 of the coursepack for a full discussion). You cannot use completing or printing the final essay as an excuse either to receive more time to complete the final exam or to take a makeup final exam.   The following two pages contain a sample final exam essay (i.e., what your essay should look like). After the sample final exam essay there is information on how to obtain the congressional vote you will use as the basis of the final exam essay.
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Final Examination Essay
Issue and Importance

In order to provide the funds for governmental projects, citizens pay taxes.  Since taxes can be a sizeable expenditure for many families and individuals, the question of who bears the tax burden becomes important.  Several years ago the U.S. Senate voted on an amendment offered by Senator Gore (D-Tennessee) that would have raised income taxes on high income groups and reduced proposed increases in taxes that would primarily fall on middle and low income groups (CQ Weekly Report, October 27, 1990, page 3655 – if you are using the internet version you will not have a page number).  The purpose of this paper is to examine how Democratic and Republican senators voted on the Gore Amendment.  We shall now develop a hypothesis concerning how we would expect Democratic and Republican senators to vote on the Gore Amendment.

Hypothesis

As discussed in class, political issues can typically be thought of as primarily either economic or noneconomic (lecture of 3/30/10 - if you do not "date" your notes, estimate the date). Taxation would clearly be an economic issue.   Furthermore, liberal and conservative political ideologies take very different positions on economic issues.  Liberals tend to think the government should try to minimize economic inequality and maintain economic security whereas conservatives value freedom of choice most highly with economic equality being much less important (lecture of 3/30/010).  Additionally, class lecture has stressed that Democratic officeholders are typically more liberal (or less conservative) than Republican officeholders (lecture of 3/30/10).  Since the Gore Amendment would raise taxes on high income groups and reduce proposed tax increases on middle and low income groups, it is probably best classified as a liberal proposal.  As Democratic senators are likely to be more liberal than Republican senators the following hypothesis seems reasonable:


H1
Democratic senators are more likely to vote in favor



of the Gore Amendment than Republican senators.

Findings

The Gore Amendment was voted on by the United States Senate on October 18, 1990.   The amendment was defeated by a vote of 45 to 55 (i.e., 45 senators voted "yes" while 55 senators voted "no" - CQ Weekly Report, October 27, 1990, page 3655).  Therefore, the Gore Amendment meets the criteria that at least 20% of those voting voted on the losing side (i.e., 45 out of 100 = 45% and 45% is equal to or greater than 20%).   


Among Democratic senators, 67% voted in favor (i.e., "yes") on the Gore Amendment [37-18 and 37/(37+18) = 37/55 = .67].  By contrast, only 18% of the Republican senators voted in favor of the Gore Amendment [8-37 and 8/(8+37) = 8/45 = .18].  Since Democratic senators were much more likely to vote in favor of the Gore Amendment than Republican senators (67% vs. 18%) the results offer strong support for the hypothesis. 
Implications

In this section of the paper you need to put your findings in a wider perspective.  Thus, are the differences between Democratic and Republican officeholders on the Gore Amendment similar to their differences on other economic issues?  If so, what does this tell you about American politics?  If not, why?   


If your results are contrary to what you expected (i.e., hypothesized) it might be that the vote was the opposite of what you thought.  See the third paragraph on page 1 of this handout.  Additionally, you should check surrounding votes.  For example, Democratic senators (who you would expect to favor increases in the minimum wage) might vote against a Republican amendment to raise the minimum wage 20 cents per hour in order to vote in favor of a later amendment to raise the minimum wage 40 cents per hour.


You should discuss your findings in conjunction with what you have read (or will read) in the textbook.  Look up your issue (e.g., taxation, civil rights, regulation of business, social welfare, foreign policy, etc.) in the appendix of the textbook and see if you can find a guide to how the two major political parties could be expected to differ on this (or similar) issues.  While there are many pages in the Patterson textbook that may be useful in this regard, the following pages definitely discuss political party differences: 159-160, 206-207, 212-213, 244-245, 312-313, and 398.  From the Giventer textbook, pages 34-35 and page 69 may be useful in this regard. A citation to the textbook should be contained within the sentence it appears and be in the following form: (Patterson, The American Democracy, 10th alternate edition, pp. 212-213).  See how I cited CQ Weekly Report in the "Findings" section.  You do not need a bibliography.  In addition to substance, grammar, and neatness, points will be subtracted from your score for each of the following:


(1)
Not calculating the percentage of Democratic legislators



and the percentage of Republican legislators who voted



"yes" on the proposal (5 points).


(2)
Not citing specific pages from the textbook in the 

           

                        "Implications" section of the paper (5 points).


(3) 
Not stapling a copy of your vote (i.e., printout a copy of the vote)



handout) to your paper (5 points).


(4)
Untyped papers will not be accepted.

(5) Late papers lose 10 points per day.   Essays turned in after the final 


exam period are counted as one day late.


The next two pages explain how to obtain the congressional vote you need for the final exam essay. 

The commands below will allow you to access CQ Weekly online.  As you may either not have a valid id or pin number, make sure you begin early.      Excuses such as “the server was down,”  you “could not access the material from home,” and “the consultant at the library that you needed to talk to was ill that day” will not be accepted.  This is the risk you take if begin the project just before it is due (10 points per day late).  Begin several days early so that last minute problems will not harm you. Note: if you are unable to use CQ Weekly, go to the last page of the coursepack and you will find instructions to use an alternative website.  So don’t panic!  To access CQ Weekly online, use the following commands:

(1) www.csulb.edu/library/
(2) Click on “Locate Specific Journals by Title” 
(3) To the right of “e-journals title begins with” type: CQ Weekly and click on “Search”
(4) Click on “CQ Press Electronic Library” 
(5) Enter your campus ID number and CSULB Library Password/Pin and click on 


“Login” (you shouldn’t need to enter a password, etc. at the CQ Press 

website – entering this material should take place at the CSULB library website – having a valid CSULB password/pin is “enough”)
(6) Under “Periodicals” click on “CQ Weekly”

(7) On the left side of the screen click on “Floor Vote Search”
(8) Use “Words or Phrases” (e.g., type in taxation, abortion, or some other type 
of issue that you are interested in) Note: you can access earlier years by using the “date range” in the middle of the screen

      (9) After entering a “Word or Phrase” click on “Search”

NOTE: If you cannot access CQ Weekly turn to the last page of the 
coursepack for an alternative website.
I tried “taxation” and received the following:
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Tax Reductions – Elimination of Tax Cuts

Dodd, D-Conn., amendment that would eliminate from the bill provisions excluding 10 percent of dividend income above $500 from taxation and provisions decreasing the top income tax rate.

Rejected by a vote of 49-50   


Republicans 1-49 (thus, 50 Republican senators voted with 1 voting 
“yes” and 49 voting “no”)


Democrats  47-1 (Northern Democrats 39-0, Southern Democrats (8-1)


Independents 1-0


Here’s how to use the previous information.  First, I know I can “use the vote” because 49% voted on the losing side (i.e., the “yes” side lost and 49 out of 99 senators voted “yes” and 49/49+50 = 49/99 = 49% - you need to work out the mathematics as I just did – you will lose points if you do not compute the percentages).  Second, I know that only 2% of Republican senators voted “yes” (i.e., 1/1+49 = 1/50 = 2%).  Third, I know that 98% of Democratic senators votes “yes” (i.e., 47/47+1 = 47/48 = 98%).  Do not be concerned with the difference between Northern and Southern Democrats.  Make sure you have the computer printout a copy of the above material and attach it to the paper you submit.


Now let us examine the “substance” of the vote.  Like the Gore Amendment that I used previously, the Dodd Amendment would shift the tax burden more toward the wealthy than would be the case if the amendment did not pass.  The Bush Tax Cut (which the Dodd Amendment was trying to change) would exclude federal income taxes on dividend income over $500.  Since dividends come from stock and approximately 75% of the privately owned stock is owned by the wealthiest 5% of households, dividends flow disproportionately to the very wealthy.  Therefore, by eliminating the tax on dividends, the Bush Tax Cut would be a huge windfall for the wealthy.  Alternatively, preserving the tax on dividends (which the Dodd Amendment was attempting to do) would hurt higher income households and help lower income households (because the tax burden would fall more on those with higher incomes, and hence, less so on those with lower incomes).  Additionally, the Dodd Amendment would reduce the reduction in federal income tax rates for the wealthy that President Bush proposed (i.e., under the Dodd Amendment the income tax rate for the wealthiest households would be higher than under the Bush proposal).  Since liberals are more egalitarian than conservatives, the Dodd Amendment would be best classified as a liberal proposal.      


Review the first page of the discussion of the final exam essay for words you are likely to see such as “strike,” “recommit,” etc.   Additionally, remember that a “yes” vote does not necessary mean you favor more of something (just keep reading).  For example, suppose a vote on an amendment to a bill increasing the minimum wage allows employers not to pay the minimum wage to teenage workers.  Voting “yes” on such an amendment would not show support for the minimum wage.  If the amendment were to pass, the minimum wage would be “weakened” since teenagers would not be covered.  Remember, you need to think through what a “yes” or “no” vote actually means. 

Please note that the in class portion of the final exam will consist of multiple choice and short answer questions.  The final exam essay I have been discussing only replaces the essay portion of the final exam.  In writing the final exam essay remember the following: (1) Do NOT advocate a particular policy or make “value judgments.” - you’re an analyst, NOT an advocate.; (2) Do NOT make statements that imply there is only one correct viewpoint (e.g., do NOT say something such as “any rational educated mind …”).; and (3) Do NOT use the first person or offer opinions (i.e., do NOT say “I think that …” or “I feel that”).

Alternative Source for Congressional Vote
If you cannot operate CQ Weekly you can still complete the final exam essay by using the Congressional Record.  The following information will allow you to access the Congressional Record: (1) Go to www.thomas.gov; (2) Look at the bottom middle of the page and click on “Roll Call Votes”; (3) Look under “Senate” (which is lower on the page than “House” – since you will need to count the number of senators for each party who voted “yes” and “no” it is easier to use the Senate – which has 100 members – than the House of Representatives – which has 435 members); (4) Pick any year from 1989 to the present; (5) Look under “Description” on the right side of the page and see what interests you.  Amendments are usually more interesting, and conflictual, than votes for final passage; (6) Click on the appropriate red numbered item in the “Vote” column and look for either “Statement of Purpose” or “Measure Title” in the middle of the page (this will explain what the vote was on and show the voting split - i.e., how many senators voted “yes” and how many voted “no” – you can also learn more about your vote by clicking on the red items immediately above the “Statement of Purpose” or “Measure Title” – e.g., “Amendment Number” or “Measure Number” and following the ensuing links).  Remember that at least 20% of those voting must have voted on the losing side.  It does not matter whether the legislation passed or was defeated.  Now scroll down to “Grouped By Vote Position” (this will list which senators voted “yes” and which voted “no” -  you should print this material because to do the term paper you will need to calculate the percentage of Democratic senators who voted “yes,” the percentage of Democratic senators who voted “no,” the percentage of Republican senators who voted “yes” and the percentage of Republican senators who voted “no”); (7) If at least 20% of those who voting voted on the losing side, you can use the vote – if not, go back and choose a different vote; (8) If the vote you have chosen does meet the 20% requirement then copy and paste what appears to the right of “Measure Title” in the middle of the screen – you can also learn more about your vote by clicking on the red underlined section to the right of “Measure Number”; (9) scroll down the page until it mentions “Grouped By Vote Position” – this will separate the “yes” and “no” voters - since this source does not tell the vote by party you will need to count the number of Democrats who voted “yes,” the number of Democrats who voted “no,” the number of Republicans who voted “yes” and the number of Republicans who voted “no” (omit any independent senators – i.e., those who do not have either a “D” in the parenthesis to the right of their name – for Democrats – or an “R” in the parenthesis to the right of their name – for Republicans).

The information on this page only replaces the top portion of page 51 of the coursepack (i.e, how you obtain your vote).  Thus, use all remaining sections of pages 48-52 in preparing your essay.  The source you will be referencing in your paper will be The Congressional Record instead of CQ Weekly.

